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QID : 1 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

My first (1)/ task has (2)/ to go for shopping. (3)/ No error (4)
Options:

Correct Answer: 2
Candidate Answer: 3

QID : 2 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select '‘No Error'.

In 2003, Delhi won the first ‘'Clean Cities International (1)/ Partner of the Year' award at its "bold efforts to curb (2)/ air pollution and support alternative fuel
initiatives". (3) /(4)

Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 1

QID : 3 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by
selecting the appropriate option.

is not well with her.
Options:

1) This

2) Always

3) It

4) All

Correct Answer: All
Candidate Answer: It

QID : 4 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by
selecting the appropriate option.

Ayouth is
Options:
1) someone

2) no one

3) anyone

4) every

Correct Answer: someone
Candidate Answer: every

who is not a child anymore and is yet to enter adulthood.

QID : 5 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Banal

Options:

1) Original

2) Commonplace

3) Distinctive

4) Sharp

Correct Answer: Commonplace
Candidate Answer: Original



QID : 6 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Contrite

Options:

1) Determined

2) Specific

3) Devise

4) Regretful

Correct Answer: Regretful

Candidate Answer: Determined

QID : 7 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Benison

Options:

1) Amen

2) Approval

3) Blessing

4) Execration

Correct Answer: Execration

Candidate Answer: [ NOT ANSWERED ]

QID : 8 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Drawn
Options:
1) Tense
2) Thin

3) Relaxed
4) Drained

Correct Answer: Relaxed
Candidate Answer: Relaxed

QID : 9 - Rearrange the parts of the sentence in correct order.

All animals have

P : have memory

Q : animals do not

R : sensation but some
Options:

1) QRP

2) PRQ

3) RQP

4) PQR

Correct Answer: RQP
Candidate Answer: RQP

QID : 10 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

She opened the lock.

Options:

1) The lock opened by her.

2) The lock was opened by her.
3) The lock is open by her.

4) The lock is to open by her.

Correct Answer: The lock was opened by her.
Candidate Answer: The lock was opened by her.

QID : 11 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Ram said, “I met her yesterday.”

Options:

1) Ram said that he met her yesterday.

2) Ram said he meet her the day before.

3) Ram said that he had met her the day before.
4) Ram met her the day before.

Correct Answer: Ram met her the day before.
Candidate Answer: Ram said that he had met her the day before.

QID : 12 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Possetion

2) Possession

3) Poessession

4) Posesion



Correct Answer: Possession
Candidate Answer: Possession

QID : 13 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We must remember that we cannot create a draconian state order to end corruption. The moral transformation of civil society must be and
based on persuasive leadership. A definition of a sustainable lifestyle must be voluntarily accepted. Only will the competitive urge to make more
and more money end. Money should become meaningful, moral and deeply . If true wealth is found in a rich heart, no one will want to touch money even
with a barge pole.

draconian state order to end corruption.
Options:

1) into

2) so

3)in

4) for

Correct Answer: in

Candidate Answer: [ NOT ANSWERED ]

QID : 14 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We must remember that we cannot create a draconian state order to end corruption. The moral transformation of civil society must be and
based on persuasive leadership. A definition of a sustainable lifestyle must be voluntarily accepted. Only will the competitive urge to make more
and more money end. Money should become meaningful, moralanddeeply _____If true wealth is found in a rich heart, no one will want to touch money even
with a barge pole.

society must be and based on
Options:

1) nature

2) natural

3) naturally

4) naturism

Correct Answer: natural
Candidate Answer: [ NOT ANSWERED ]

QID : 15 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We must remember that we cannot create a draconian state order to end corruption. The moral transformation of civil society must be and
based on persuasive leadership. A definition of a sustainable lifestyle must be voluntarily accepted. Only will the competitive urge to make more
and more money end. Money should become meaningful, moralanddeeply __________If true wealth is found in a rich heart, no one will want to touch money even
with a barge pole.

A_____definition of a sustainable lifestyle
Options:

1) clearly

2) clarity

3) clarification

4) clear

Correct Answer: clear
Candidate Answer: [ NOT ANSWERED |

QID : 16 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We must remember that we cannot create a draconian state order to end corruption. The moral transformation of civil society must be and
based on persuasive leadership. A______ definition of a sustainable lifestyle must be voluntarily accepted. Only ______ will the competitive urge to make more
and more money end. Money should become meaningful, moralanddeeply __________ If true wealth is found in a rich heart, no one will want to touch money even
with a barge pole.

Only will the competitive urge
Options:

1) than

2) thus

3) so

4) then

Correct Answer: then

Candidate Answer: [ NOT ANSWERED ]



QID : 17 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We must remember that we cannot create a draconian state order to end corruption. The moral transformation of civil society must be and
based on persuasive leadership. A definition of a sustainable lifestyle must be voluntarily accepted. Only will the competitive urge to make more
and more money end. Money should become meaningful, moral and deeply . If true wealth is found in a rich heart, no one will want to touch money even
with a barge pole.

moral and deeply . If true wealth
Options:

1) satisfy

2) satisfaction

3) to satisfy

4) satisfying

Correct Answer: satisfying

Candidate Answer: [ NOT ANSWERED ]

QID : 18 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Be out of order

Options:

1) Some goods which are out of stock.

2) Do something against the court's ruling.
3) A device not working properly or at all.
4) Things kept in an organized manner.

Correct Answer: A device not working properly or at all.
Candidate Answer: A device not working properly or at all.

QID : 19 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

A sight for sore eyes

Options:

1) An ugly sight unpleasant to the eyes.

2) When one becomes tired of watching too much TV or reading.

3) A person or thing that one is extremely pleased or relieved to see.
4) A beautiful sight that you can visualise even with closed eyes.

Correct Answer: A person or thing that one is extremely pleased or relieved to see.
Candidate Answer: A person or thing that one is extremely pleased or relieved to see.

QID : 20 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Rude in a mean-spirited and surly way
Options:

1) Affable

2) Churlish

3) Cordial

4) Genteel

Correct Answer: Churlish
Candidate Answer: Cordial

QID : 21 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A characteristic of one thing that is suggestive of another
Options:

1) Antithetic

2) Disparate

3) Conjecture

4) Reminiscence

Correct Answer: Reminiscence
Candidate Answer: [ NOT ANSWERED |

QID : 22 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "no improvement".

The diesel engines replaced the steam engines and the old first class coaches (is replaced) by coupes in a corridor.
Options:

1) was replaced

2) were replaced

3) were replace

4) no improvement

Correct Answer: were replaced
Candidate Answer: no improvement

QID : 23 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "'no improvement".

We kept aside our clothes, (clean) our hiking boots and made sure we had our thick woollen socks.



Options:

1) cleaned

2) cleans

3) to clean

4) no improvement
Correct Answer: cleaned

Candidate Answer: cleaned

QID : 24 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

| say a small

A-prayer whenever | ring
B-next assignment
C-the doorbell to my
Options:

1) ABC

2) CBA

3) CAB

4) ACB

Correct Answer: ACB
Candidate Answer: ACB

QID : 25 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) floundar

2) flounder

3) flaunder

4) flaundar

Correct Answer: flounder
Candidate Answer: flounder

QID : 26 - In the following question, select the related word pair from the given alternatives.

frfafed wer A Ry g foeredt # & Hafaa aeg gm &t g

18R ::2:?

Options:

1) Troupe : Artist

AUSH : AR

2) Principal : School

v : fRerer

3) Tyre : Car

ufgar : <R

4) Minister : Council

Correct Answer: Troupe : Artist
TUSH! : HATRR

Candidate Answer: Troupe : Artist

TUSe! : AR

QID : 27 - In the following question, select the related number from the given alternatives.
354:351::478:?

frafafea os A Ry g feredt # @ wefaa de @ gfg)

354:351::478:?

Options:
1) 481
2) 447
3) 475
4) 477

Correct Answer: 475
Candidate Answer: 475

QID : 28 - In the following question, select the related letter/letters from the given alternatives.
PTY:DHM::SQZ:?
FrafafEa v 8§ Ry 7 et & @ Hefa srer/sieri & gl

PTY:DHM::SQZ:?



Options:

1) IEO

2) GEN

3) GFN

4) IFP

Correct Answer: GEN
Candidate Answer: IEO

QID : 29 - In the following question, select the odd word pair from the given alternatives.

frafafed mer & Ry Q feredt & & fwm 2rse g &t gg)

Options:

1) Table Tennis - Indoor
a9 - 3R

2) Cricket — Outdoor
fohdhe — amSeeER

3) Football — Outdoor
Feard — TSR
4) Indoor — Chess

— ST

Correct Answer: Indoor — Chess
TSR — A
Candidate Answer: Table Tennis — Indoor

T ¢ - FSR

QID : 30 - In the following question, four number pairs are given. The number on left side of (=) is related to the number on the right side of (=) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

A9 g Q0 v &, IR T g Ry g &)1 (-) & Irff ok & Tee () & arff ok &) 7 e @ adh/faw @ wwifda )1 ff 35t ga adh/Fem 3 enaR o wmE €1 Ry g et § @
v & gfgl

Options:

1)33-40

2)31-38

3)21-28

4)23-28

Correct Answer: 23 — 28

Candidate Answer: 23 — 28

QID : 31 - In the following question, select the odd letter/letters from the given alternatives.

FrafafEa v 8§ Ry g foeredt 7 @ s srer/s1ert &t gl

Options:

1) IQY

2) CKT

3) EMU

4) HPX

Correct Answer: CKT
Candidate Answer: CKT

QID : 32 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Infect
2. Inferior
3. Indulge
4. Induce
5. Indirect

AT real T Areaehtar # ST aTel 3 & SR ford |

1. Infect
2. Inferior
3. Indulge
4. Induce
5. Indirect
Options:
1) 52143
2) 12453
3) 54312
4) 14532

Correct Answer: 54312
Candidate Answer: 54312



QID : 33 - In the following question, select the missing number from the given series.
23,28, 34, 41, 49, ?
fafafea vy § Ry 7y et & @ g of 31 Sifsgl

23,28,34,41,49,?
Options:

Correct Answer: 58
Candidate Answer: 58

QID : 34 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AFMG, CHOI, EJQK, GLSM, ?
Teh 3rehd e e &, S @ ue U g 81 g g fehedit # @ o Tl e g, St SR i g1 e

AFMG, CHOI, EJQK, GLSM, ?
Options:

1) HMVP

2) IOUH

3) MOUP

4) INUO

Correct Answer: INUO
Candidate Answer: INUO

QID : 35 - Rahul is taller than Richa but not shorter than Mita. Mita and Mukesh are of same height. Rahul is shorter than Raju. Amongst the students, who is the
second tallest?

g, T O A § TG HIe 8 Ster 761 &1 a1 aUT Gohar Goh THH TS & 8| g, A9 BieT &1 B A F, GERT FaY T D 82

Options:
1) Mita
Htar

2) Rahul

gt
3) Mukesh

TR

4) Cannot be determined
1 Tt e ST Fepar

Correct Answer: Cannot be determined
1 Tt o ST Fepar

Candidate Answer: Cannot be determined

BIGEGRERISIEETI

QID : 36 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.

Benevolent
g g faehedt & § g8 2reg IMAQ Sit g 1y 26 & 1eRl A THT ek Al ST S ek g1

Benevolent
Options:

1) Been

2) Nevin

3) Lent

4) Ben

Correct Answer: Nevin
Candidate Answer: Nevin

QID : 37 - In a certain code language, “FLUTE” is written as “UOFGV”. How is “LAMPS" written in that code language?

U fAfr® s T &, “FLUTE” &t “UOFGV” foiaT STTdT 81 39 bt 9T § “LAMPS” &t fohg e forar siraem?
Options:

1) ONKPT

2) 0ZNPS

3) OSNPZ

4) OZNKH

Correct Answer: OZNKH

Candidate Answer: 0ZNKH



QID : 38 - In a certain code language, '+' represents '+, - represents 'x', '+' represents '+ and 'x' represents . Find out the answer to the following question.
6Xx20+5-20+4=7

foreht fAfa onte o & '+, '+ ot UG fRia shea 8, -, 'x' ol UaiRia dear &, '+, '+ Y vefRia ehear & SR X, - ot vefRia eear 81 FRefafd st SR A R
6x20+5-20+4="?

Options:

Correct Answer: 11
Candidate Answer: 11

QID : 39 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
16-2+-40+4x18=40
fafafea aefteeor Tod &1 59 THteeor st 98t A & forg 3R &t gl oY S & SreetT-aiget st anfeg?

16-2+40+4x18=40

Options:
1) +and-
+ 3R -

2) +and x
+ 3R x

3)+and +
+3R+

4)-and +
- 3R+

Correct Answer: = and -

Candidate Answer: - and +
- g.ﬁq +
QID : 40 - If 119 = 20, 9!5 = 28 and 5!5 = 20, then find the value of 713 = ?

Tfe 119 = 20, 915 = 28 3R 515 = 20, Tt 7!3 = ? &1 A AT B

Options:
1) 20

2)15
3)22

4)24
Correct Answer: 20
Candidate Answer: 20

QID : 41 - Which of the following terms follows the trend of the given list?
PQPQPRRQ, PQPQRRPQ, PQPRRQPQ, PQRRPQPQ, PRRQPQPQ,
frfafea # O &9 a1 ue § it gt & o & SIgER 87

PQPQPRRQ, PQPQRRPQ, PQPRRQPQ, PQRRPQPQ, PRRQPQPQ,
Options:

1) PQPQPQRR

2) RRPQPQPQ

3) PQPQPRRQ

4) PQPQRRPQ
Correct Answer: RRPQPQPQ
Candidate Answer: PQPQPQRR

QID : 42 - A cross-country race route starts and goes 2 km East, then there is a turn towards North where the route goes on for 10 km, then there is a turn towards
East where the route goes on for 7 km, then there is a right turn from where the route goes on 10 km to reach the end. What is the position of the end with respect to
that start?

T 1 el 8 FC Y& BiaT & 3R 2 5.+t gdf 7 51 8, O a5t <R fean A gk Ats § STet a5 A1t 10 {1, Ta ot e 8, foRR g ot areh Ueh At § STei @ ANt 3t 7 A aa
AT ST 2, fhR Ueh SIfeT At & STet & ag At Siaweret aeh Ugan & forg oY 10 6.+, Fop et Sirar &1 39 Yerd & Taie # siaweret St fRAfy &2



Options:

1) 5 km East
5frf. gd

2) 9 km West
9 fn.of. ufgm
3) 5 km West
5 fon oY, ufgw
4) 9 km East
9 fon. 7. gd

Correct Answer: 9 km East
9 fop. . g

Candidate Answer: 9 km East

o fontft. g

QID : 43 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All chains are ropes
Statement II: Some links are chains

Conclusion I: Some ropes are links
Conclusion II: All links are ropes

uy H &l %A G3 T & o ot gt fse | ofiR 11| Frepret M €1 staent \AT @ 6 S e I € 91 98 ITHIG: AT 2l § 9 udld g g1 smuent fAofa @ & i g g
st & @ s-g1/aa-a Rffa w0 @ we gR1 ) Renre ST gehdr &/9ed 8, afe i gt

YA | oft 3 i gt €
&Y II: TS Tt T gt &

foread |I: e <Rt AT B &
s 11: 97 Fiat =i B &

Options:
1) Only conclusion | follows
| et @

2) Only conclusion Il follows

e sy || T8l §

3) Both conclusions | and Il follow

a1 e | ok 11 Tt &

4) Neither conclusion | nor conclusion Il follows

1 at frrsenef | @@t & AT € s |1

Correct Answer: Only conclusion | follows

hae sy | TEt &

Candidate Answer: Only conclusion | follows

hae sy | 9@t &

QID: 44 -

In the following figure, rectangle represents Paramedics, circle
represents Athletes, triangle represents Poets and square represents
Gymnasts. Which set of letters represents Gymnasts who are both
Athletes as well as Poets?

farfofd el & sma soffeces & vefle & &,
O TUieH & FeRia #c ¢, e #iadh @ eRia & &
IR TorreTees 1 Tefid &l £ HER # Bl 6 W 39
e @t 9efia &t ¢ Ot veliew 3R & gt 37




Options:
1)G

2) GH
3)IG

4) IGH
Correct Answer: G
Candidate Answer: G

QID : 45 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
HAT, MFY, RKD, WPI, ?
Qe 31 o T 8, e @ gk ue g 81 Ry 1y Rrenedt A @ a8 98t fened gfg, St orgend sl |

HAT, MFY, RKD, WPI, ?
Options:

1) YRK

2) AWO

3) AVYM

4) BUN

Correct Answer: BUN
Candidate Answer: BUN

QID : 46 - In the following question, select the missing number from the given series.
669, 660, 651, 642, 633, ?
frafafed v 8 Ry 1y et § & g sies 71a RIfSg)

669, 660, 651, 642, 633, ?
Options:

Correct Answer: 624
Candidate Answer: 624

QID : 47 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

12 feq g e H, i Smetl & IR g QU T &1 Uder g A gER adT e AT ugeht e § fohelt Gen adh/ A @ TEfda 81 i S g doh/ e & sTYR R 99 81 )iy
Y feredt & § f9= &t gl

Options:

1) (49, 45, 39)

2) (73, 68, 63)

3) (94, 89, 84)

4) (66, 61, 56)

Correct Answer: (49, 45, 39)

Candidate Answer: (49, 45, 39)



QID: 48 -

If a mirror is placed on the line MN, then
which of the answer figures is the right
image of the given figure?
afe T gdor F MN Y@T ) I@T AT ar &
I 3 AHIATT H F Dlad-dl IHfa wea
3P T eI FidteFs glan?

<

Options:
1)

2)

3)

4

)

Correct Answer:

$




Candidate Answer:

$

QID: 49 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fArfaf@a 3cat 3fa 7 & #i @1 g1 U
AT 9T IMPld A & ol OF F AT Agh

©
OJH| 1=
A

Options:

1
X<

2)

o0
o
O 0
O

3)

4




Correct Answer:

L

x0
o]

O 0

Candidate Answer:

o,

200
OOD

QID : 50 -

A word is reprasented by only one set of numbers s given in any one of the alternatives. The sets
of numbers given in the alternatives are represented by two classes of alphabets as shown in the given
two matrices, The columns and rows of Matric! are numbered from 0 to 4 and that of Matrixll are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column,
for exarnple 'C' can be represented by 30, 43 etc and'S' can be represented by 88, 97 etc, Similarty, you have to
identify the set for the word 'VOLT',

W %G Fa0 U WEA-AAp car guin am §, o fF fReed A 8 Bl o #
fear a1 Rwedt & Ru a0 qea-wp we & & @t @ e v f s
fr for oo & el & f1 3ol & v R R A Hew 0 # 43R
FegEl £ 5 % 9 ¢ 5y OF W A e 36 o O @) T
T g R T EEA g1 FeE & fv C' A 30, 43 R @ @ o v
¥ 'S @ 86, 97 1R W e o HE B g o ® o A # R o
VOLT' & v ag &1 TgareT £

Matrix | Matrix Il
ITEE -1 -
0 1| 2 3| s E: 7 g8 | 9
o | a F| B I M 5 ) u x | o | x
1 F C [ & B 6 T v | v | al x
2 B | G F P F 7 lw | oy T X | w
3 C L | E | B 8 z 5 N 7 T
4 K | A | m| ¢ F 9 N | o | s N | X
Options:

1) 67,96,31,65
2) 20,89,14,59
3) 43,58,31,65

4) 30,57,30,68
Correct Answer: 67,96,31,65
Candidate Answer: 67,96,31,65

QID : 51 - Population of Patna city is 96,000, the decreasing rate of population is 800 per year. Population of Patliputra is 68,000, the increasing rate of population is
1200 per year. In how many years will the population of both places be equal?

TeAT Q18R Y STEIET 96,000 8, SATETET oAl Fedt &= Ul a1t 800 &1 urefeigst i Seeat 68,000 &, STad! &hi dgd! &= ufd af 1200 &1 ST STe) ol el fohae aret # sRmeR gif?

Options:
1)10

2)14
3)18

4)22
Correct Answer: 14
Candidate Answer: [ NOT ANSWERED ]



QID : 52 - The cost price of 3 exam pads and 2 pencils is Rs. 96, 4 exam pads and 3 pencils cost Rs. 134. Find the total cost (in Rs.) of an exam pad and that of a
pencil.

3 wdter Oe SR 2 Ufet Y T e 96 F. & | 4 ulten A< ok 3 U T 134 %. € | Uk udten 8 ok Ues Ufie Y gpet omTa (FUN ) F1d AR

Options:
1)36

2)38
3)40

4) 42
Correct Answer: 38
Candidate Answer: [ NOT ANSWERED |

QID:53-

Determine the value of x% + ¥ when x°* = ° =54, x-y=18 and xy=2.

X+ y @1 7 ey, et -yt =54, x—y=1831 xy =28

Options:
1)0

21
3)2

4)3
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 54 - A zoo has few numbers of penguins and polar bears. The total number of heads of both of them is 60 and the total number of their feet is 160. How many
polar bears are there in the zoo?

RifsamR # o @ § 9 SR yd Wi &1 39 a1 & R &l et 9 60 & 3R &R &1 gt T 160 31 RfSareR # gt fovam et e 87
Options:
1) 20

2) 40
3)60

4) 80
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 55-
Consider the following figure shown below and choose which of the following

equation is CORRECT about the similarity of both triangles?

e & o fowe anefd W faeR & 3R Feafofaa et & ¥ &iF @
gt Fisger &1 wETEAT & Ay w8
Options:

E
A
£ 5cm
2.5cm hi%
a BO®,
& 3cm F 6 cm &
1)

AABC ~ ADEF

2
AACB ~ ADEF

3)
AABC ~ AFDE

4) Both triangles are not similar.
gt THE AT &



Correct Answer: Both triangles are not similar.
S IS 9 18T §
Candidate Answer: [ NOT ANSWERED ]|

QID : 56 -
Consider the following diagram as shown in figure in which AB is the tangent to

the circle. Find the length of OQ (in cm) if the measure of largest chord of that
circle is 6 cm and PQ is 4 cm.

Brataftg By o far & Gad 3 fgamr mr & Gad A g3 &
Foofrar &1 oQ & dag (2eh @) T T, 9fE 3w 9w B wew o A wr
AT 6 AT AT PQ 4 FdEer ¥

Options:
12

2)3
3)4

4)5
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED |

QID : 57 - The income of P is 50% more than Q’s income and the income of Q is 50% more than R’s income. P’s income is how much percentage more than R’s
income?

P &t 3 Q i 3 § 50% 31 & TUT Q Y 3T R hY 3T T/ 50% 1Ak &1 P i 3 R it 3 & foham ufaera oifdes 82

Options:
1) 225

2)150
3)125

4) 100
Correct Answer: 125
Candidate Answer: [ NOT ANSWERED |

QID : 58 - What number should be added to each of 7, 17, 22 and 47 so that the resulting numbers will be in proportion in the given order?

7,17,22 97 47 Uk § i Tt et St st anfeq aifcs uRomt dwamd ges Swrgura 3 817
Options:

Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]
QID : 59 - In what ratio must a mixture of 15% spirit strength be mixed with that of 25% spirit strength to get a mixture of 21% spirit strength?

15% f@re 7ma aret fAsror et 25% fRte A= aret frsror & a1y fohg srqura & femar ST e foh wes 21% f@rie ama arer = syt fae smg?

Options:
1)1:3

2)2:3
3)3:4

4)4:5
Correct Answer: 2 : 3
Candidate Answer: 2 : 3



QID : 60 - The average of three numbers is 58. First number is 3/4 of the third number. If the third number is 24 more than second number, then what will be the
difference between the first and second number?

i Teanaeit o sftad 58 &1 ugel T, st et 1 3/4 81 af et T gEst S § 24 Sifdes 8, dt uge! a1 gEst S & Hed fohe AT SR ghm?
Options:

1) 24

2)6

3)16

4)18

Correct Answer: 6

Candidate Answer: [ NOT ANSWERED ]

QID : 61 - A sum of Rs 2500 becomes Rs 8100 in 2 years at a certain rate of compound interest. What will be the sum (in Rs) after 4 years?

Teh 2500 T hi MY Tehgfeg; saTst hl Geh FfYd ax @ 2 an & 8100 3 81 et 31 4 N ygyral A (% ) &/ ghft?

Options:
1) 29824

2) 36284
3) 41624

4) 26244
Correct Answer: 26244
Candidate Answer: [ NOT ANSWERED ]

QID : 62 - Rahul sells two helmets at the rate of Rs 1232 each. He gains 12% on one and loses 12% on the other. What will be the total loss (in Rs) in the whole
transaction?

g &l aerie 1232 T Ufd hl R T =T 31 S8 Toh TR 12% A1 99T §8R W 12% 811 gl &1 R Eie & 3t 81 (3 ) = ghfi?
Options:

Correct Answer: 36
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - The marked price of a table is 50% more than its cost price. What discount percentage should be offered by the shopkeeper to sell his table at no profit or
no loss?

Qe T ol Sifehd T, S o e @ 50% e &1 GSMER GIRT STa-T AT et 7 fohelt @1t ar = faneft 31 R = & forg, e wferar &t e & Sttt anfeg?

Options:

1) 66.66

2)33.33

3) 40

4) 25

Correct Answer: 33.33

Candidate Answer: [ NOT ANSWERED ]

QID : 64 - What is the least number that should be added to the product 7 x 8 x 9 x 10 to make it a perfect square?

7 x 8 x 9 x 10 & TUMheT Sl Yeh JUT il 14 o folq Tet SYET Tt R Siet st anfgg?

Options:

1) 144

2)1

3) 289

4)3

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]|

QID : 65 - Working 9 hours a day, Manish can read a book in 16 days. How many hours a day should he work so as to finish the same work in 24 days?

9 ©¢ ufafe o aah 7Y Ueh q&ah ot 16 &1 & Ug Tehar §1 afe a8t st 24 7 8 o1 o &Y, at I ufafe foha € e aveet anfeg?
Options:

1)5

2)7

3)8

4)6

Correct Answer: 6

Candidate Answer: 6

QID : 66 - Two trains are running in opposite direction with the same speed. If the length of each train is 80 metres and they cross each other in 16 seconds, then
what is the speed (in km/hr) of each train?

3} Yermifear wam fa & faudia fexmedt & 9 3@ €1 afs v Jame it evars 80 Hiex § dUT & Ueh GUR I 16 Yohvs H UR hedl! 8, df Uich JenTral i i (fon. 7./ der #) ar 82



Options:
1)12

2)18
3)24

4) 30
Correct Answer: 18
Candidate Answer: [ NOT ANSWERED ]

QID: 67 -

The pie chart shows the results of an online survey which
asked people about their favourite game. Study the diagram
and answer the following questions.

IE B U UH oIS A0 & qRomA gfier ¥
fS# ofelt @ 37s qwcler Wl & SN A qoT I Al
TH I F Heggd R AR Frafafaa wa & 361 )

Number of people / St T d&an

Which game is the favourite of most people surveyed?

forg g Tdferor & qEdt SaTer Sl T UHEYET i a1 Qe 82

Options:
1) Basketball
et

2) Football
3) Hockey

HED)

4) Baseball
ERCIcH

Correct Answer: Football
B IEIC
Candidate Answer: Football

gesite



QID: 68 -

The pie chart shows the results of an online survey which
asked people about their favourite game. Study the diagram
and answer the following questions.

Tg UF UE TH HiAosd FIEOT & qRomd gfar §
Bt At A 3% wder A & X F qor T
T W & 3eTT Y 3R e wat & 3er

Number of people / AT T &

What is the total number of people who have responded to the survey?

dfgror & ufafeRa 37 aret AT Y et TedT a1 87

Options:
1) 2100

2) 2200
3) 2400

4) 2500
Correct Answer: 2400
Candidate Answer: 2100



QID: 69 -

The pie chart shows the results of an online survey which
asked people about their favourite game. Study the diagram
and answer the following questions.

Tg UF UE TH HiAosd FIEOT & qRomd gfar §
Bt At A 3% wder A & X F qor T
T W & 3eTT Y 3R e wat & 3er

Number of people / AT T &

The measure of the central angle of the sector representing Baseball is degrees.

ESCISEARBIE DTk R e ko aap a1 o0 211 SR, )

Options:
1) 30

2) 60
3)75

4) 45
Correct Answer: 45
Candidate Answer: [ NOT ANSWERED ]|



QID:70-

The pie chart shows the results of an online survey which
asked people about their favourite game. Study the diagram
and answer the following questions.

Tg UF UE TH HiAosd FIEOT & qRomd gfar §
fog# dll # 3% gedler ¥ & aX A qur Iwr |
T W & 3eTT Y 3R e wat & 3er

Number of people / AT T &

Respondents who say their favourite game is Cricket and those who say their favourite game is Hockey constitute what percent of the total respondents?

St T gt & o SeTeRT ueidiar | fohche & ofR St &l shgdl € foh Ikt ueidiaT Wl gTehl 8, 3 et SRaTarsl oAt fene nfaierd ifed e &2
Options:

1) 30%

2) 33.33%

3) 25%

4) 40%

Correct Answer: 33.33%

Candidate Answer: 33.33%

QID : 71 - The perimeter and the breadth of a rectangle are 52 cm and 12 cm respectively. Find its area (in cm?).

oh T o1 GRATT 3R diers shasr: 52 .t ok 12 F.fY. & i35 &t (af §.18). &) a3
Options:

1) 84

2) 336

3) 168

4) 252

Correct Answer: 168

Candidate Answer: 252

QID : 72 - Find the perimeter (in cm) of a semicircle of radius 7 cm.

7 9.7, Brsur aret ges siefget ot ufkmrg (S 7) 719 R
Options:

1) 36

2)72

3) 44

4) 88

Correct Answer: 36

Candidate Answer: 88

QID : 73 - The curved surface area and the height of a right circular cylinder are 660 cm?and 10 cm respectively. Find its diameter (in cm).

Ueh 915 G S S ash U8 T &thel SR TS shest: 660 af 9.41. ik 10 &+, &1 3ua amw (.40, &) F1a &<l
Options:

1)14

2)10.5

3) 21

4)17.5

Correct Answer: 21

Candidate Answer: 21



QID : 74 - What is the value of (tan30° + v3/2) ?

(tan30° + v3/2) T | HIT &2

Options:
1) (4+v3)/2

2) 5/2v3
3) (4+v3)/2v3

4) (V3+1)/¥3
Correct Answer: 5/2v3
Candidate Answer: 5/2v3

QID : 75 - In AXYZ measure of angle Y is 90°. If secX = 17/8, and XY = 0.8cm, then what is the length (in cm) of side XZ?

AXYZ w01 Y 1 A9 90° 31 afe secX = 17/8 SR XY = 0.8 .. g, @t 3[oT XZ &t «tarrs (F.7. #) s g2

Options:

117

2)1.5

3)2

4)25

Correct Answer: 1.7

Candidate Answer: [ NOT ANSWERED ]

QID : 76 - Economic growth is usually coupled with

3nfefen e M TR R & Tr gfad g1

Options:
1) deflation
Saehifa

2) inflation

3) Stagflation
Aerehifasaa

4) hyper inflation

Sf Ferehifa

Correct Answer: inflation

Candidate Answer: inflation

QID : 77 - The apex body for formulating plans and coordinating research work in agriculture and allied fields is:

P 3R Farg &1 B FITT TR T SR T e o fog wated e 8
Options:
1) Indian Council of Agricultural Research
Py srgde™ aRwg
2) Regional Rural Banks
&t amfior

3) State Trading Corporation
IY IR

4) National Bank of Agriculture and Rural Development (NABARD)
¥ HfY SR ymefior foerrer dep (ATaTE)
Correct Answer: Indian Council of Agricultural Research
Py srgEe™ aRug
Candidate Answer: [ NOT ANSWERED ]

QID : 78 - After the decline of the Palas, which dynasty established its rule in Bengal?

T 2T & Ud & 91E, STTeT § R ASTaRT 3 S79T e nfud fhar?

Options:

1) Sena dynasty

JA ger

2) Gaur dynasty

Titg ger

3) llyas dynasty
Rl

4) Ganesh dynasty

DRG]

Correct Answer: Sena dynasty
EECR
Candidate Answer: [ NOT ANSWERED ]



QID : 79 - Which of the following were NOT related to the Congress Socialist Party?

frfafed # § o i FaeEd) & @ defea T8t 97

Options:
1) Acharya Narendradev
A Red

2) Ram Manohar Lohia
9 AER Alfear

3) Jai Prakash
STOYhIRT

4) Subhash Chandra Bose

gATEE I

Correct Answer: Subhash Chandra Bose
FATEg 9

Candidate Answer: Jai Prakash
SThIRT

QID : 80 - Which of the following is called 'the safety valve of nature'?

ffafEa 3 § fod 'uepfar o gRem area’ et SITaT 82
Options:

1) Earthquake

9ehu

2) Ozone gas

3 A

3) Volcano

4) Rivers

Correct Answer: Volcano

Candidate Answer: Ozone gas

CICiCRicH

QID : 81 - Which regional division the Himalayas is situated between the Kali and Tista rivers?

et Ta diear At & e ffarea o1 iF-ar ue e fum fa g2
Options:

1) Punjab Himalaya

ueTTe femTer

2) Nepal Himalaya

AUt 3T

3) Assam Himalaya
3 fgATera
4) Kumaon Himalaya

ERICS
Correct Answer: Nepal Himalaya
fewTera

Candidate Answer: Punjab Himalaya
Yot fgrrera

QID : 82 - The folk dance "Bohag Bihu" is popular in
Ao demfag _ #veEfa gl

Options:
1) Assam
3EH

2) Bihar
[EEIN

3) Odisha
anfeam

4) Jharkhand
FIRETS

Correct Answer: Assam
A

Candidate Answer: Assam
A

QID : 83 - With which country China has signed a free trade agreement on December 8, 2017.

TR a1 & A1y i 7 8 fHeR, 2017 i Ger H<h TR GASA TR §%1eR foham &7



Options:
1) Pakistan
uTfehea

2) Nepal

gt

3) Afghanistan
ST

4) Maldives
G

Correct Answer: Maldives

Candidate Answer: Nepal

QID : 84 - Who authored the book Titled ‘The Story of a Brief Marriage’, which won the DSC Prize 2017 for South Asian Literature?

Zfayor gfraTs e a1 S qRERR 2017 Siiae arelt g&de ‘G ©RY 3 U it T fohem forar 82

Options:

1) Anuk Arudpragasam
Sfch RCUTTHH

2) Justin Mallik

St afers

3) Premdass Nayyar
THE AR

4) Aziz Sharif
3TSieT R

Correct Answer: Anuk Arudpragasam
Sfch ARCUTTIHH
Candidate Answer: [ NOT ANSWERED ]

QID : 85 - The present Nepal Prime Minister K.P. Sharma Oli is belong to which political party?

AT & goa gerEsT &Y. et st fhg oo g @ Tefda g2

Options:
1) Rastriya Janata Party Nepal
AET ST UTEl Auter

2) Communist Party of Nepal (Unified)
e STk et (ehicper)
3) Nepali Congress
Aureht i
4) Rastriya Prajatantra Party
AERT TSTias et
Correct Answer: Communist Party of Nepal (Unified)

e U S et (Thipa)

Candidate Answer: Communist Party of Nepal (Unified)

g U S et (Tehigpa)

QID : 86 - What is the maximum number of electrons that can be present in a shell represented by shell number ‘n'?

el T ‘' @ exifdt 7 e & Sufd Sifdehan seaer-l &t T oT g Gehdt 87
Options:

1) 2n

2) 2n?

3)n

4) n2

Correct Answer: 2n2

Candidate Answer: 2n

QID : 87 - Which of the following is NOT an allotrope of carbon?

frafafaa & @ 9 a1 o1 1 sruey T8 87

Options:
1) Diamond

2) Graphite
TthIge
3) C-60

160
4) Methane
AT

Correct Answer: Methane

Candidate Answer: C-60
60



QID : 88 - The definition of Money Bill is given in which article of the Indian Constitution?

TR e & e fdaren i aRemer fohg srgese # & 78 87
Options:

1) Article 56

3TE 56

2) Article 110

g 110

3) Article 252

3T 252
4) Article 256
IFBE 256

Correct Answer: Article 110
3 110
Candidate Answer: Article 256

3G 256

QID : 89 - In India, which kind of emergency can be proclaimed on the grounds of war or external aggression or armed rebellion?

TR H, g T ITGT STTeRATT IT T fIaTE o TR TR fhY UehR 1 SUTachIe faerT fohar ST gemdr 87

Options:

1) National Emergency

¥ STaTaeRTe

2) State Emergency

TSThIT STUTAhIT

3) Financial Emergency

=it smaTdenTer

4) State and Financial Emergency both
qen fa<fir smaraesre gt

Correct Answer: National Emergency

I sTuTaehTe

Candidate Answer: National Emergency

I sTuTaehTe

QID : 90 - Buildup of which acid in our muscles during sudden activity causes cramps?

3T Rl AT & ER fhe st & fAwToT 3 shrRoT gARY ofta} & Yo giem gl 872
Options:

1) Lactic acid

AfRew et

2) Pyruvic acid

IS deh ST

3) Carbonic acid
3TRT
4) Oxalic acid
I 37T

Correct Answer: Lactic acid
3TFT

Candidate Answer: [ NOT ANSWERED ]

QID : 91 - Who presented that all the plants and animals are composed of cells and that the cell is the basic unit of life?

Ig foram vga foman s aoft el ua Sig, sntfRrentafl @ s & o Sifent Sfae &t gerad grs 872
Options:

1) M. Schleiden and T. Schwann

. Tfted aur &, @

2) Virchow

farart

3) J. E. Purkinje

. € gefber

4) Leeuwanhoek

Correct Answer: M. Schleiden and T. Schwann

. Wite aar &, @
Candidate Answer: J. E. Purkinje
. € wfda

QID : 92 - In December 2017, the Prime Minister of India approved the setting up of National Nutrition Mission (NNM) with an outlay of .
fReEraR 2017 #, wRA & wemws e aret AETT GyoT SIfHAT (TTYTH) Y TITIAT aht Hepdt &1



Options:

1) Rs 8046.17 crore
8046.17 TS 3

2) Rs 9046.17 crore
9046.17 TS T

3) Rs 7046.17 crore
7046.17 TS T

4) Rs 10,000 crore
10,000 &S T0d
Correct Answer: Rs 9046.17 crore
9046.17 TS 3

Candidate Answer: [ NOT ANSWERED ]

QID : 93 - In which country the world’s largest automated container terminal opened in December 20177

R 2017 & forg 331 & fay o1 T ST Traferd She efifer e &2

Options:
1) China
EiE!

2) Russia
&9

3) India

YRA

4) Singapore
i

Correct Answer: China

Candidate Answer: Singapore

QID : 94 - In January 2018, Indian Renewable Energy Development Agency (IREDA) raised $ 300 million via

STHERt 2018 H, TR 311 Jholl fehT™ Toid (STSIMRISITT) 7 & gRT T Wieh Taaet 7 300 ffeH Sier Jerg 81
Options:

1) Yellow Masala Bonds

T HTeT dt-s

2) Green Masala Bonds

& H9TeA -8

3) Red Masala Bonds

STeT ATl di-8

4) White Masala Bonds

AT AT S

Correct Answer: Green Masala Bonds
B H9TeA -8

Candidate Answer: [ NOT ANSWERED |

at London Stock Exchange.

QID : 95 - On 2 January 2018, Parliament passed NABARD (Amendment) Bill, 2017 which provides that Union Government alone must hold atleast how much capital
share of NABARD?

2 SHa% 2018 ht, TS 7 A1aTE (Hited) g, 2017 wiika & far e SIguR She GRRR &l 3ichel ATTS &t & & S foha1l goft 3@ a1feg?
Options:

1) 48%

2) 70%

3)51%

4) 60%

Correct Answer: 51%

Candidate Answer: 51%

QID : 96 - A bullet of mass 10 g is fired with a velocity of 20 m/s from a gun of mass 2 kg. Find the recoil velocity (in m/s) of the gun.

2 Tttt geamT aeft foneft ager @ 10 T geaeT aref! Gahs et 20 Hex/ddhe & a7 & =T STt 31 g & UID g ot A (HFex/dehs H) I 1|
Options:

11

2)0.2

3) 0.1

4)2

Correct Answer: 0.1

Candidate Answer: 0.1

QID : 97 - The product of force and the time for which the force acts on a body is equal to the change in of the body.

TRt a%q R @Y &1 AT ST T S GHY T UM a¥ h ___ H IR & sRISR giaT 8



Options:
1) acceleration
ROl

2) torque

3) momentum

4) velocity

aT

Correct Answer: momentum

Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Earthquake tremors are caused by the disturbance deep down inside the uppermost layer of the earth called the

gedt & offeR il T8 JFU g Y ___ g ST &, B TTEE hl TeaE & hRUT 3T 317 &

Options:
1) core

2) kernel
CEC)

3) pith
Hdg
4) crust

Correct Answer: crust

Candidate Answer: core

QID : 99 - Which of the statements given below are correct?

A) Fan Zhendong won the Tennis 2017 Cincinnati Masters Men's Singles.
B) In 2018 IPL auctions, Mumbai Indians retained Sunil Narine.
C) Australia won the 2016-17 Women's FIH Hockey World League Final.

T dd s arTsrm g @2

A) T ST 7 2R 2017 AR areee A= Rive Sfiam

B) 2018 & sirstheet Fomh & fa 3z 3 griier mrgor a0t R femam &1
C) Sireferar = 2016-17 o1 THY hSTSUT BIh! dce 1T Higd Sfiarl
Options:

1) Only B

%had B

2) Only C

hael C

3)A,BandC

A B3RC

4) None of these
B EEEIEE]

Correct Answer: None of these

Candidate Answer: Only B
%ad B

QID : 100 - Computers and communication technologies affect our lives in ways that include: , in the way we learn and shape the course of our learning
according to our own interests.

FHReR 3R TOR HEfiht gaR S &t o aXg @ weifad st 8 S9N & , ST T & AR AR a7 3R AR W@ & UTSdehA &l T S & dlich & dgradr
AT

Options:

1) Societal

g

2) Technological

Hrenfien

3) Educational
Aferm
4) Personal

Correct Answer: Educational
Qferen

Candidate Answer: Educational
g
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QID : 101 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

The bell rung (1)/ while | (2)/ was brushing my teeth. (3)/ No error (4)
Options:

Correct Answer: 1
Candidate Answer: 3

QID : 102 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

The British Council has brought Museum of the Moon to India (1)/ to mark the last phase of the UK-India Year of Culture (2)/ and 70 year of the British Council in
India. (3)/ No error (4)

Options:

1)1

2)2

3)3

44

Correct Answer: 3

Candidate Answer: 3

QID : 103 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Everyone is mad each other.
Options:

1) to

2) for

3) towards

4) at

Correct Answer: at

Candidate Answer: at

QID : 104 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The mind gives man the ability to understand, think and feel and is the of the soul.
Options:

1) Innovation

2) temptation

3) invention

4) manifestation

Correct Answer: manifestation

Candidate Answer: Innovation

QID : 105 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Devoid

Options:

1) Empty

2) Complete

3) Sufficient

4) Happy

Correct Answer: Empty
Candidate Answer: Complete



QID : 106 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Monolithic

Options:

1) Huge

2) Written

3) Minute

4) Cramped

Correct Answer: Huge
Candidate Answer: Cramped

QID : 107 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Baffling

Options:

1) Puzzling

2) Unclear

3) Mystifying

4) Comprehensible

Correct Answer: Comprehensible

Candidate Answer: Comprehensible

QID : 108 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Scholarly
Options:

1) Learned
2) Ignorant
3) Cultured
4) Trained

Correct Answer: Ignorant
Candidate Answer: Ignorant

QID : 109 - Rearrange the parts of the sentence in correct order.

The majority of

P : during the general elections
Q : highly educated Indians
R : do not vote

Options:

1) RPQ

2) PRQ

3) PQR

4) QRP

Correct Answer: QRP
Candidate Answer: QRP

QID : 110 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

He ate pizza ravenously.

Options:

1) Pizza is eaten by him.

2) Pizza was eaten ravenously by him.
3) Pizza was ate ravenously by him.
4) Pizza ate ravenously by him.

Correct Answer: Pizza was eaten ravenously by him.
Candidate Answer: Pizza was eaten ravenously by him.

QID : 111 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

“Is it snowing?” she asked.

Options:

1) She asked whether the snow has started.
2) She inquired about the snow.

3) She ask whether it was snowing.

4) She asked if it was snowing.

Correct Answer: She asked if it was snowing.
Candidate Answer: She ask whether it was snowing.

QID : 112 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Accommodate

2) Acommodate

3) Accomodate

4) Accomeodate



Correct Answer: Accommodate
Candidate Answer: Accommodate

QID : 113 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

But there is reason to worry that the next Shakespeare or Valmiki is being suppressed by social media. is also crowd-sourced even though
we just can't see the forest for the trees when so many postings, | mean trees, seem to take birth die every minute. | am certain that some great creative
personalities will emerge in art, and literature from social media. Instant stars are born via viral postings but self-selection be the best filter to
extract the superstars of the ilk of history’s greatest.

But there is reason to worry
Options:

1) none

2) neither

3) nor

4) no

Correct Answer: no

Candidate Answer: no

QID : 114 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

But there is reason to worry that the next Shakespeare or Valmiki is being suppressed by social media. is also crowd-sourced even though
we just can't see the forest for the trees when so many postings, | mean trees, seem to take birth die every minute. | am certain that some great creative
personalities will emerge inart,____ and literature from social media. Instant stars are born via viral postings but self-selection______ be the best filter to
extract the superstars of the ilk of history’s greatest.

social media. is also crowd-sourced
Options:

1) Creativity

2) Creative

3) Creation

4) Create

Correct Answer: Creativity
Candidate Answer: Creativity

QID : 115 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

But there is reason to worry that the next Shakespeare or Valmiki is being suppressed by social media. is also crowd-sourced even though
we just can't see the forest for the trees when so many postings, | mean trees, seem to take birth die every minute. | am certain that some great creative
personalities willemerge inart,_____ and literature from social media. Instant stars are born via viral postings but self-selection _______ be the best filter to
extract the superstars of the ilk of history’s greatest.

take birth die every minute.
Options:

1) nor

2) and

3) for

4) neither

Correct Answer: and

Candidate Answer: and

QID : 116 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

But there is reason to worry that the next Shakespeare or Valmiki is being suppressed by social media. is also crowd-sourced even though
we just can't see the forest for the trees when so many postings, | mean trees, seem to take birth_____ die every minute. | am certain that some great creative
personalities will emerge inart,_______ and literature from social media. Instant stars are born via viral postings but self-selection________ be the best filter to
extract the superstars of the ilk of history’s greatest.

emerge in art, and literature
Options:

1) musically

2) musician

3) musical

4) music

Correct Answer: music

Candidate Answer: music



QID : 117 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

But there is reason to worry that the next Shakespeare or Valmiki is being suppressed by social media. is also crowd-sourced even though
we just can't see the forest for the trees when so many postings, | mean trees, seem to take birth die every minute. | am certain that some great creative
personalities will emerge in art, and literature from social media. Instant stars are born via viral postings but self-selection be the best filter to
extract the superstars of the ilk of history’s greatest.

self-selection be the best
Options:

1) since

2) until

3) may

4) whether

Correct Answer: may

Candidate Answer: may

QID : 118 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

A cold fish

Options:

1) Someone who seems unfriendly and who does not share his feelings.
2) Something valuable preserved for a long time.

3) A lost business opportunity.

4) A fish which can survive in freezing water.

Correct Answer: Someone who seems unfriendly and who does not share his feelings.
Candidate Answer: Someone who seems unfriendly and who does not share his feelings.

QID : 119 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Bend over backwards

Options:

1) Use unfair means to succeed.

2) Make every effort to achieve something, especially to be fair or helpful.
3) Lose self respect to please others.

4) To step back from an unpleasant situation.

Correct Answer: Make every effort to achieve something, especially to be fair or helpful.
Candidate Answer: Use unfair means to succeed.

QID : 120 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A stately or impressive building housing a tomb or group of tombs
Options:

1) Mausoleum

2) Shanty

3) Hovel

4) Tepee

Correct Answer: Mausoleum

Candidate Answer: Mausoleum

QID : 121 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Exposed to the possibility of being attacked or harmed, either physically or emotionally
Options:

1) Robust

2) Tenacious

3) Vulnerable

4) Stout

Correct Answer: Vulnerable
Candidate Answer: Robust

QID : 122 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

There was hardly any traffic and my father told us the history of the place we (is trekking) to.
Options:

1) was trekking

2) were trekking

3) were trek

4) no improvement

Correct Answer: were trekking
Candidate Answer: were trekking

QID : 123 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

You (have been) a very good girl.



Options:

1) has been

2) is been

3) have being

4) no improvement

Correct Answer: no improvement

Candidate Answer: have being

QID : 124 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

In those days
A-ambulances available on
B-call to ferry patients to hospitals
C-there were hardly any
Options:

1) BCA

2) BAC

3) ACB

4) CAB

Correct Answer: CAB
Candidate Answer: CAB

QID : 125 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word .
Options:

1) valedection

2) velediction

3) veledection

4) valediction

Correct Answer: valediction

Candidate Answer: valediction

QID : 126 - In the following question, two statements are given each followed by two conclusions | and II. You have to consider the statements to be true even if they
seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: Medicines today have become an integral part of everyone’s life.
Statement 2. People undergo medicinal treatment at any age.

Conclusion1: Lifestyle has made us easy going and less caring for health.
Conclusion2: Medicines have become compulsory part of one’s life.

Qg 7Tq st  F© YA SR Ioh 18 37 HYATR HTeTRA Fo Fehe 3y 7 8, grifcs I980 = A1d a2 & a1 gt Gehd! ¢ 1 9t s ud ok foR RafRa R fF Ry mg s @
e, i3y 7Tq ot & SR wR gfhea &1

YT 1: TaT4 37T &% et & Sfia a1 Ten sifard feear a1 e &

Y 2: AT et et of o A sitwefta IuaR @ e gt 21

frsenef 1: Sfiemsielt = &8 gfaemsiiwf ofk Gga & ufa arazare a1 fean g
frsepdf 2: gaTd Sftae et siffard e a9 7€ 81

Options:

1) Only conclusion 2 follows

haet Ry 2 A g &

2) Conclusion 1 and 2 both follow

freny 1 SR 2 G A gtaT &
3) Neither 1 nor 2 follow

T 1 3 2 aAr gl @
4) Only conclusion 1 follows
1@y
Correct Answer: Only conclusion 2 follows

Fad freny 2 A gt §

Candidate Answer: Neither 1 nor 2 follow

T 1 g 2 AN g &

QID : 127 - Select the related word/letters/number from the given alternatives.
Rickets : Bone : : Thalassemia : ?

g g et # & Haifda area/s1er/dw@ & g
@t gg : : daefifimn: ?

Options:
1) Brain
ARISH

2) Kidney

3) Blood
Th

4) Liver
gPpd



Correct Answer: Blood
h

Candidate Answer: Blood
h

QID : 128 - Select the related word/letters/number from the given alternatives.
FG:13::UV:?

g Mg faeredt & § Tefda erea/ 1R/ st g
FG:13::UV:?

Options:

1) 45

2) 55

3) 21

4) 43

Correct Answer: 43

Candidate Answer: 43

QID : 129 - Select the related word/letters/number from the given alternatives.
543:12::764:7

g 7Tq faeredt & @ Hefda e/ siar/<we@ &t gl
543:12::764:7?

Options:

1) 25

2)17

3)23

4)16

Correct Answer: 17

Candidate Answer: 17

QID : 130 - Select the odd word/letters/number/number pair from the given alternatives.

g 1 faeredt & 9 fowm sree/ sreR/dwen/ @ g ot gl

Options:

1) Light pen
SIECASE]

2) Monitor
AifeR

3) Printer
ez

4) Speaker
e

Correct Answer: Light pen
SIECAE

Candidate Answer: Light pen
SIECAE
QID : 131 - Select the odd word/letters/number/number pair from the given alternatives.

g TTq faehedt & § fawe Sreg/s1eR/wen/dvean g &t gHg|

Options:
1) PT

2) DH
3)vz

4) KN
Correct Answer: KN
Candidate Answer: KN

QID : 132 - Select the odd word/letters/number/number pair from the given alternatives.

g g faeredt & § faww reg/sreR/wwean/dvean g ot gyl

Options:
1) 190

2) 149
3)197

4) 191
Correct Answer: 190
Candidate Answer: 190



QID : 133 - Select the odd word/letters/number/number pair from the given alternatives.

g 7 faeredt & 9 fowm srea/ sreR/dwen/ @ g &t gl
Options:

1) 363

2) 297

3) 253

4) 487
Correct Answer: 487
Candidate Answer: 487

QID : 134 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series. Triangle, Square, Pentagon, ?

Qe 31 o T 8, e @ U ue g 81 Ry Ty et 7 & a8 frened gy, ST orgern il gxr k| iR, e, dereRto, 2
Options:

1) Decagon

Sy

2) Heptagon

LSt

3) Octagon

STEYS

4) Hexagon

&S

Correct Answer: Hexagon
&g

Candidate Answer: Hexagon

RS

QID : 135 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series. 200, ?, 50, 25, 12.5

e SreRH foam mar 8, O € Uk us g &1 Ry g fenedt & 9§ ag faehed g, St srgeRd & grr Rkl 200, 2, 50, 25,12.5

Options:
1) 123

2) 225
3) 100

4) 198
Correct Answer: 100
Candidate Answer: 100

QID : 136 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series. 40, 70, 130, 220, ?

e SreRH foam mar 8, O € Uk ug g &1 Ry g fenedt & @ ag faereq g, Sit srgeR it grr &Rk 40, 70, 130, 220, ?

Options:
1) 425

2) 430
3) 150

4) 340
Correct Answer: 340
Candidate Answer: 340

QID : 137 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series. DFE, GIH, JLK, ?

e STehH foar T B, FOrew @ o U g 1 g g et & @ a8 fenen gy, St orgeRd Y g Rl DFE, GIH, JLK, ?

Options:
1) LTS

2) 1K
3) MON

4) PRS
Correct Answer: MON
Candidate Answer: MON

QID : 138 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series. IJ, MN, RS, ?

Qe 31 o T 8, e @ g ue g 81 Ry 1y et # & a8 fened gfg, St orgeed & g ai 1J, MN, RS, ?



Options:
1) NM

2) BA
3)0P

4) XY
Correct Answer: XY
Candidate Answer: XY

QID : 139 - If the tenth day of a month having 30 days is Tuesday, then what day of the week will the last day of the same month be?

afe 30 &7 aTet Ueh HEM @ cai 7 HaR §, df GwdTg T shi=-a1 fom 39 [ o sifaw f& ghm?

Options:
1) Monday
BSILCI

2) Friday

Q\I

3) Wednesday
gUAR

4) Sunday
RGN

Correct Answer: Monday

Candidate Answer: Friday

Q\I

QID : 140 - Arrange the given words in the sequence in which they occur in the dictionary.

i. Derogate
ii. Dictum

iii. Dictate

iv. Dictionary

frfafad el &t 2reaentsr & o1 a1et oA & SIER ford|

i. Derogate

ii. Dictum

iii. Dictate

iv. Dictionary

Options:

1) v, ii, i, iii

2) iii, iv, i, i

3) iv, i, i, i

4) i, iii, iv, i

Correct Answer: i, iii, iv, ii
Candidate Answer: i, iii, iv, ii

QID : 141 - In a certain code language, “INTERVIEW" is written as “VIEWRINTE” How is “PROTECT” written in that code language?

e fafre s wrom & "INTERVIEW" &t "VIEWRINTE" foram STran &1 59 hts arem & “PROTECT" @t fohdr UepR forar sirgem?

Options:
1) ECTTPRO

2) ETCTPRO
3) ECTTPOR

4) CETTPRO
Correct Answer: ECTTPRO
Candidate Answer: ECTTPRO

QID: 142 -
In the following question, select the missing number from the given series.

Fafafed uy 4 fdu T fdsenl § O g @i F1d S
54 | 9 45

61 | 12| 49
45110 7




Options:
1) 45

2)10
3)35

4) 50
Correct Answer: 35
Candidate Answer: 35

QID : 143 - If “A” denotes “added to”, “C" denotes “divided by”, “D" denotes “multiplied by” and “B” denotes “subtracted from”, then 192C2D5B8A6="?

g A" a1 31 “Sirg” &, “C” ot o1 "o B, “D” o aref “om” & SR “B” okt o1f “ge” 8, @t 192C2D5B8A6=?

Options:
1) 402

2) 495
3) 478

4) 432
Correct Answer: 478
Candidate Answer: 478

QID : 144 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it ?
X_za_c_yzab_

At osr & s1aRl o1 Sle a1 Tig @refl W R AR @ 4 & T8 &R $Raa Sl I H3m?
x_za_c_yzab_

Options:

1) ybba

2) ybxc

3) bycx

4) Cccx

Correct Answer: ybxc

Candidate Answer: ybxc

QID : 145 - A watch shows 4:30 AM. If the minute hand is pointing towards north, then which direction is the hour hand pointing to?

T TSt A G5 & 4:30 9T 35 &1 I e &t g I fam ot ok g, t ok ©e ot g o fam &t sk givft?

Options:
1) East

2) South
giaor

3) North-west
IR-ufga

4) South-west

B & P

Correct Answer: North-west
IR-

Candidate Answer: North-west
IR-



QID : 146 -
A word is represented by only one set of numbers as given in any one
of the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to
4 and that of Matrix-1l are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next by its column,
for example, ‘N’ can be represented by 21, 67 etc. and ‘R’ can be
represented by 66, 57 etc. Similarly, you have to identify the set for
the word 'HUMP".

U eg $had Uh TEAI-THg gRI G T g, ol s faweal o @ faeit
ue | foar m 31 faeed o o o em-ung 2Rt & & o9 g1 guiie
L g, o o ST U a1 SMeg! | 51 3Medg- & W 3R Ofad & €. 0
3 4 3R AFG-11 P 5 951 37 AFG! U U 48R H Ugel S| Ulad
R 918 H W TS §RT =i & Ydbhdl ¢ SaIgevl & ferd 'N' &l 21, 67
1S R ST 1 Hahall § TUT 'R D 66, 57 3G GNT G241 &I Hepall g
34 Te ¥ gw! uy § BT 8 Hume' & T S @) teaEA B

Matrix-I Matrix-11
ST - | TEE - I
0j1]2]3]|4 5(6|17]18]9
O|H|R|A|N|B S5|HIMjU[ I |Q
TIW|{U|N|JH|L 6| X|R|IN|W|P
2|E|N|S|H|O 71C|S|Y|E|U
SIN|Y|[P|OM 8ISINIM|M|S
41 HIM|IO|F|A 9/ G|B|E|R|U

Options:
1) 23,57,41,88

2) 13,11, 34,69
3)32,02,11,86

4) 00, 99, 87, 33
Correct Answer: 13,11, 34, 69
Candidate Answer: 13, 11, 34, 69

QID : 147 - Introducing a girl a boy says, “She is the only daughter of the wife of my brother-in-law”. How is the girl related to the boy?

Tk eTadh! o IR &RIA §U Ueh el Shadl 8, a8 IR S5-14/dTe &l Uc! h gehelld) 981 81 “ag Tl 99 oedh @ &hd Tafda 82
Options:

1) Sister-in-law

2) Mother

=

3) Daughter

&

4) Niece

afef/arefisit

Correct Answer: Niece
afsf/arefisit

Candidate Answer: Niece
ofstt/



QID : 148 -

If a mirror is placed on the line MN, then which of the answer figures is
the right image of the given figure?

gfe U U BT MN 38T R @1 ST, 1 31 T2 ST Agpiaal 4 ¥ S 4
Tl Uy Apfa &1 To! wiafers gl

=)

Options:
1)

2)

3)

4

Bl DB |Z] X

Correct Answer:

X

Candidate Answer:

X

QID : 149 - Identify the diagram that best represents the relationship among the given classes. Ministers, Politicians, Actor

g AR A St A2 g 7 et & ffa & Gefer ot et fAeuor shear g1 FEt, e, sifear




Options:
1)

&

2)

©

3)

9

4)

S

Correct Answer:

9

Candidate Answer:

g

QID : 150 -

A piece of paper is folded and punched as shown below in the ques-

tion figures. From the given answer figures, indicate how it will appear
when opened.

e & Wy piagl d [G@IE ATHR I &I HigdL B ayl @iad &
91E a5 fbd IR M id okl fears ame




Options:
1

2)

oy

3)

Correct Answer:

QID: 151 -

If 11a =116 =29282 find the value of ?.

afE 11a +11b =20282 %,Eﬂ% FT A 71T HL

Options:
1) 661.5
2) 663.5
3) 665.5
4) 667.5

Correct Answer: 665.5
Candidate Answer: 665.5

QID : 152 - If the sum of two numbers is 25 and their product is 156. Find the larger number.

I & st &1 g 25 § SR e UM 156 1 ST 9T A1d

Options:

1) 11

2)12

3)13

4)15

Correct Answer: 13
Candidate Answer: 13

QID: 153 -
If 162%% =64 , then What is the value x'

afg 162" =64 §, @I X & HA AT B



Options:

1)-9/4

2) 9/4

3)-18/4

4)18/4

Correct Answer: -9/4

Candidate Answer: -9/4

QID: 154 -
Find the value of ‘X', if 8% x 32% =210,

X' & A AT 1, A 85 x32¢ =20 g

Options:
1)1/8
2)10/8
3) 20/8
4) 30/8

Correct Answer: 10/8
Candidate Answer: 10/8

QID : 155 - The radius of the two concentric circles is 5 cm and 13 cm. The tangent to the smaller circle is the chord to the greater circle. What is the length (in cm) of
that chord?

3 TA e AT gl o e 5 At ofk 13 S 81 B¢ g i wuReaT 8 gd o forg Sfiar 81 39 Sftar i s (S #) = g?

Options:

Correct Answer: 24
Candidate Answer: 12

QID: 156 -

AB, EF and CD are the parallel lines as shown in the adjoining figure below. The
dimensions of the sides GE= 6 cm, GC=12 cm and DC=16 cm. Calculate the
length of EF.

AB, EF 31 CD@aior @rd & At ey e o & & Rae v §) st
F HAMH GE = 6 ¥H[ GC = 12 I A DC = 16 AT &1 EF Y wars &I
IO (TAT ) FL

o

Options:

14

2)8

3)10

4)12

Correct Answer: 8
Candidate Answer: 8

QID : 157 - If P is 50% less than Q and Q is 70% more than 640, then what is the value of P?

afe P Q & 50% &H g 9T Q, 640 & 70% 3ifeh &, dt P &1 |1 am 872
Options:

Correct Answer: 544
Candidate Answer: 544



QID:158-If x:y =y : 7, then what is the value of x3 : y3?

g x:y=y:z& @x3: yd A A §?
Options:

1) X yz

2) X y2 z

3)x:z

4) 7 Xy

Correct Answer: X : yz

Candidate Answer: [ NOT ANSWERED ]

QID : 159 - In an amalgam, mercury and silver are in the ratio of 3 : 7. In the second amalgam, the ratio of same elements is 1 : 9. If equal quantities of these two
amalgam are mixed to form a new amalgam, then what will be the ratio of both of these elements in the new amalgam?

Ueh URS-fASI07 §, URT a7 97t 3 : 7 3 0T & §1 TR URS-ASI01 § FHM Il T SUTd 1 : 9 &1 IS Yk 70T URS-MAS01 &9 & folg 39 & URS-fAs(olt dht sRrer A ot fremar
Y, At 1Y URE-A%707 § 37 T deal Al ST T gHT?

Options:

01:4

2)7:81

3)4:15

4)2:7

Correct Answer: 1:4

Candidate Answer: 1: 4

QID : 160 - Average of the weight of 138 students of a school is 45 kg. If the average weight of the boys is 49 kg and the average weight of the girls is 25 kg, then what
will be the respective ratio of the total weight of boys and the total weight of girls?

Ueh fremera & 138 faenfefal & WR & oftad 45 foh.am. €1 aft Tl & Sffrd YR 49 foh. M. qe eforal & offrd 9R 25 R, &, Ot TSen! o et R JAT IS chdll oh el MR T SHALT:
IO T §?

Options:

1)5:43

2)49:5

3)3:49

4)7:1

Correct Answer: 49 : 5

Candidate Answer: 7 : 1

QID : 161 - What is the difference (in Rs) between the compound interest (compounded annually) and simple interest for 3 years on a principal of Rs 2500 at the rate
of 30% per annum?

2500 ¥ & gaed IR 30% F arftien &z & 3 IuT o Iehqfeg TS (AR TAIST) TUT HTURUT TS & A ek (T F) H1 82

Options:
1) 742.5
2) 624.5
3) 714.5
4) 825.25

Correct Answer: 742.5
Candidate Answer: 742.5

QID : 162 - A person sells a pen at 15% profit. If he had bought it at 7% less price and sold it for Rs 250 more, then he would have gained 25%. What is the cost price
(in Rs) of the pen?

e Afh Teh et Y 15% AT TR STdT 81 S T8 ITeh! 7% T Jed R WGdT a7 3§ 250 & 4fek § =, dt 3§ 25% ol 1T SidT| hetH T shd T4 (3 H) 1 87

Options:
1) 20000
2) 18000
3) 25000
4) 23000

Correct Answer: 20000
Candidate Answer: 25000

QID : 163 - The marked price of a chair is 75% more than its cost price. What maximum discount percentage can be offered by the shopkeeper to sell his chair at no
profit or no loss?

e T o Sifchd Hed, I8 o Hed § 75% SHf §1 HMER GRT STU+T et ot = foReht @t Sreran =1 8 foneft a1 R e & forg, srfdrenam foram wfrar &t e & S et 82
Options:

Correct Answer: 42.85
Candidate Answer: 42.85



QID : 164 - What is the square root of the sum of first 36 odd natural numbers?

T 36 T urepfcren TRearstt & T @ avfie &7

Options:

1)6

2) 36

3) 64

4)72

Correct Answer: 36
Candidate Answer: 36

QID : 165 - 21 workers can repair a road in 40 days. If they are joined by 7 more workers, then in how much time (in days) the road can be repaired?

21 iffer Uk T T T 40 e & o Topd &1 IS Ik 1Y 7 9 oifieh 9 S &, at fohae oo (Rt &) & e ot oeTd 8t wendlt 82
Options:

Correct Answer: 30
Candidate Answer: 30

QID : 166 - Two trains are moving towards each other with the speed of 25 km/hr and 83 km/hr respectively. What will be the distance (in metres) between the trains
one second before collide?

Y YT geh gER Y avth shAST: 25 foh.H. /e qur 83 fh.H./der Y fd & =t 76 81 T @ Uk Gahve ugd Yermieal & ot fohart gt (+fex #) gifi?

Options:

1) 32

2) 35

3) 30

4) 40

Correct Answer: 30

Candidate Answer: [ NOT ANSWERED ]

QID: 167 -

The bar graph shows 1 month's sales figures of different
brands of refrigerator of a certain electronics store in Rs 1000s.
Study the diagram and answer the following questions.

Ig 9 W6 U faflise goei@ew R & Whekel &
fafftet sEt & 1 7= &1 o & 3= & o suar A
gl ¥l 30 N 7 WAt 3R Al el

& Ik gl
Sales (in Rs 1000s) / fashr (ga wwat #)
450 200
m i
340
330 1 320 280 280
300
250 -
200 - 160
150
100 I
50
ol i
A 8 c D P L 6
Refrigeratorbrand / 3=zt @18

Sales of which refrigerator brand were the second highest?

for AR & sifs Y gudt gafferen faehr oft?

Options:
1)G

2)D
3)A

4)C
Correct Answer: D



Candidate Answer: D
QID: 168 -

The bar graph shows 1 month's sales figures of different
brands of refrigerator of a certain electronics store in Rs 1000s.
Study the diagram and answer the following questions.

Ig aR % 06 s goeci@en ©R & Wk &
faffiet #ish & 1 7 1 fohr & s # g Toat &
g &1 39 3NW F He3qd ¥ 3R Fefafaa geat
& 3R S

Sales (in Rs 1000s) / fashr (germ st #)
450 200
200 | i
=01 3m 280 280
m 4
250 | -
200 4 160
150
100 - I
.
o I M o . e
A 8 € D P ¥ G
Refrigerator brand / {Faiiet @18

What is the ratio of sales of brand B to that of brand E?

5 B SR 517 E & skl & srqura & &2

Options:
17:4

2)4:7
3)4:1

4)1:4
Correct Answer: 7 : 4
Candidate Answer: 7 : 4



QID : 169 -

The bar graph shows 1 month's sales figures of different
brands of refrigerator of a certain electronics store in Rs 1000s.
Study the diagram and answer the following questions.

Ig R T & faflse goecif@ew ©R & Whekel &
faffieer aist & 1 7 & o & 3hs & goR Toar A
gelier 1 50 M@ F ey w3 Fefaf@a weat
& 3ok &

Sales [in Rs 1000s) / FafY (ga ot )
450 4 200
‘N 1
340

=0 1 32 280 280
m 4
250 | "
200 - 160
150
100
so 4
N B . - " .

A 8 € D P L 6

Refrigeratorbrand / Izt @18

Sales of brand F was greater than that of brand E by

gieF R RS ERM germd & arfdes ot

Options:
1)1.5

2)0.5
3)24

4) 0.6
Correct Answer: 1.5
Candidate Answer: 2.4



QID: 170 -

The bar graph shows 1 month's sales figures of different
brands of refrigerator of a certain electronics store in Rs 1000s.
Study the diagram and answer the following questions.

Ig IR A% U fafdse soedii@ew ©R & e &
fafftet sEt & 1 7= &1 o & 3= & o suar A
gl ¥l 30 N 7 WAt 3R Al el

& Ik gl
Sales (in Rs 1000s) / fashr (ga wwat #)
450 200
m i
340
350 1 320 280 280
am i
250 -
200 - 160
150
100 I
50
ol i )
A 8 c D P L 6
Refrigeratorbrand / Izt @18

If the sales figures are exclusive of tax then at the rate of 5% tax how much is the tax to be paid (in Rs) on the sales of all the 7 brands of refrigerators?

e freht & sriere & e AfAiet 18 §, <t 5% chl &R & ot 7 1St oh AThoRed & freht wR foham 2 (30 H) & wdm?

Options:
1) 10000

2) 1000000
3) 100000

4) 1000
Correct Answer: 100000
Candidate Answer: 100000

QID : 171 - The length of the diagonal and the breadth of a rectangle is 29 cm and 20 cm respectively. Calculate its area (in cmz)A

Yo A & faeruf Y oars ofk 3T S &t diets shAsT: 29 TéHtex 3k 20 FéHtex &1 39 eather (aif Téiwtex &) Fr mormT he|

Options:
1) 840
2) 160
3) 320
4) 420

Correct Answer: 420
Candidate Answer: 160

QID : 172 - If the area of a semi-circle is 308 cm?, then find its radius (in cm).

I Uk g ol &thet 308 af FéNefiex 2, at geht s (Séer #) 1 |

Options:
1) 28

2)10
3)20

4)14
Correct Answer: 14
Candidate Answer: 14

QID : 173 - The volume of a hemisphere is 718.67 cm3. Find its diameter (in cm).

eh STl ol A 718.67 4 AR 81 33eh &y (Fhfier &) wma e



Options:

17

2) 28

3)14

4) 21

Correct Answer: 14
Candidate Answer: 7

QID : 174 - What is the value of (sec450 + 1/v3) ?

(sec450 + 1/v3) ol H1F a1 872

Options:
1) (2+v3)/2V3

2) (2+2v3)/V3
3) (2+2v3)/3

4) (V6+1)/V3
Correct Answer: (V6+1)/v3
Candidate Answer: (vV6+1)/v3

QID : 175 - In AABC measure of angle B is 900. If cosA = 8/17, and AB = 4cm, then what is the length (in cm) of side BC?

AABC % @tor B &1 |19 900 81 32 cosA = 8/17 3R AB = 4 §dHiex &, At ofoft BC &t wiard (S8efex &) &2
Options:

1)8.5

2)7.5

3)5

4)6

Correct Answer: 7.5

Candidate Answer: 5

QID : 176 - Most of the sculptures in 'Rani ki Vav' are in devotion to?
Y Y arer F sifdreniar gfda fohachy s 7 €2

Options:

1) Shiva

fRrar

2) Ganesha
TToYRT

3) Mahavira
HETER

4) Vishnu
Correct Answer: Vishnu

Candidate Answer: Shiva
fRrar

QID : 177 - For the movie "Jab We Met", Kareena Kapoor won the Filmfare Award for

hed St Ae h eI aRA______ & foIg fherthar qReepr Sfiar|

Options:

1) Best Supporting Actress
TIAE Tg AIRHT

2) Best Female Debut
FaE Afger ugel! fher

3) Lifetime Achievement
SieR 6t Juefed

4) Best Actress
IS SAfAT

Correct Answer: Best Actress

REREEIREE]

Candidate Answer: Best Actress

QID : 178 - Which Vitamin is essential for the absorption of calcium?

SR & sr@nvr & g S a1 e smasaes &2



Options:

1) Vitamin E
[ECIEEE]

2) Vitamin A
[ECIEERY

3) Vitamin D
[ECIEEEC

4) Vitamin C
[ECIEEE:)

Correct Answer: Vitamin D

Candidate Answer: Vitamin D

QID : 179 - Cockroaches belongs to the phylum

RIHRIT TSt & Sfcfa ST &1

Options:
1) Echinodermata

2) Arthropoda

ayfarer

3) Platyhelminthes
S

4) Mollusca
Hiereent

Correct Answer: Arthropoda
3!

Candidate Answer: Arthropoda
ayfarer

QID : 180 - Chemical formula of Ozone is

St T e g _gl
Options:

1) H202

2) 0,

3) 03

4) NH3

Correct Answer: O3

Candidate Answer: O3

QID : 181 - Atomic number of which of the following elements is greater than that of Barium
Ffafed aal d & fhaeht weTy) e afem &l gomr A siferen 82

Options:

1) lodine

I

2) Silver

AR

3) Bromine

4) Gold

58

Correct Answer: Gold
™

Candidate Answer: lodine

QID : 182 - Commonly used abbreviation OS in computer science stands for?

FHRER fOT & AR R AT fohdT ST arel dféied w1 oigw R 82
Options:

1) Operating System

SfoRfET e

2) Operating Search
TR T+

MW
4) Optimization Search
it =

Correct Answer: Operating System

3)vOptimization System
JAfemTESY



Candidate Answer: Operating System
SHTRfET e

QID : 183 - Who travelled throughout South Asia to teach Jain philosophy?

S deara e & ford ot afavor oferar &t ar forem &t oft?

Options:
1) Siddhartha Gautama
Rgref ftaw

2) Mahavira
3) Makkhali Gosala
ARG TG

4) Chanakya
TOTRY

Correct Answer: Mahavira

Candidate Answer: Mahavira

QID : 184 - Mr Shah is willing to spend upto Rs 50 lakh for a German luxury car. Luckily he finds a dealer who says the price of the car is Rs 42 lakh. Mr Shah
convinces the dealer to give him 5% discount on the said price. Mr Shah's consumer surplus is

AT Mg Tk ST et SR o folg 50 ARE 3 dh @ A & [l IR &1 F19Wa € I3 Ueh SIoR [BerdT 8 STt gl & foh R Y hiea 42 dra & &1 oo g SeR &l 5% Ge e &
g g Aa &1 i Mg T SuihT ALY fahae 87

Options:

1) Rs 8 lakh

8 AT T

2) Rs 10.1 lakh
101G ®

3) Rs 2.1 lakh
2.1 @ T

4) Rs 39.9 lakh
399G %

Correct Answer: Rs 10.1 lakh
101 =@ ®

Candidate Answer: Rs 10.1 lakh
101 @ ®

QID : 185 - Customs duty is an instrument of

T S[ees foher Hefda 82
Options:

1) Fiscal policy
TSTeRTd g +Hifer

2) Monetary policy
Hifsen ife

3) Trade policy
IR Hifq

4) Revenue policy
NSESE

Correct Answer: Fiscal policy

Candidate Answer: Revenue policy
o Afa

QID : 186 - Radon is formed in the alpha decay of .

Options:
1) radium

2) uranium

3) actinium

4) thorium

qifam

Correct Answer: radium

Candidate Answer: radium



QID : 187 - The circular depression containing a volcanic vent is called?

Teh ST & HgT IR T U gEIGR gaTd @Y T ST 87
Options:

1) Crater

S "

2) Smog

g7

3) Crust

qugt

4) belta
Cal

Correct Answer: Crater
AT S

Candidate Answer: Crust

QID : 188 - Beijing is the Capital City of .

ST CARUSRIE T

Options:

1) Iraq
Rk

2) Thailand
RIES K

3) China
=

4) Russia
&

Correct Answer: China

Candidate Answer: Thailand

QID : 189 - Taj Mahal was built in

arsrge @l fmfor gomar
Options:

1) 14th Century

14 Y sraredt

2) 15th Century

15 &t <1l H

3) 16th Century

16 ot raredt &

4) 17th Century

17 &t <1y

Correct Answer: 17th Century
17 <t <1y &

Candidate Answer: 15th Century
15 dt eraredt §

QID : 190 - Sikh Khalsa Army was formed under the rule of

g @reraT 31 fohadh AT & ded aATS TS ofY?

Options:

1) Sher Shah
2R

2) Rana Pratap

]TOTT YdTq

3) Hemu Vikramaditya
[EEzlIT]

4) Ranjit Singh

orsfia Rig

Correct Answer: Ranjit Singh

Candidate Answer: Ranijit Singh
RUNICAET

QID : 191 - Telephone was invented in which decade?

AT BT SR fehet greh & gar am?



Options:
1) 1670s
1670s
2) 1770s
1770s
3) 1870s
1870s
4) 1970s
1970s

Correct Answer: 1870s
1870s

Candidate Answer: 1870s
1870s

QID : 192 - Which device is used to limit electric current in a circuit?

forelt wfche & faega vare @t difia e & forg o= o feargw v & wmar Sirar 82
Options:

1) Grid

firs

2) Capacitor

e

3) Fuse

e
4) Resistor
utaRies

Correct Answer: Fuse
LS

Candidate Answer: Resistor
ech

QID : 193 - If a physical quantity has the units - ampere per meter squared, then what are it's dimensions?

afe gep +iferer AT &t 3ar § - TR ufa af AR, at Skt e e gie?

Options:
1) [AL-2]

2) [ M-2]

3)[IL-2]

4) [AM-2]

Correct Answer: [| L-2]

Candidate Answer: [| L-2]

QID : 194 - Who conducts oath of office to the President of India?

YR & ALUFT Y BT Y AU B fetarar &2

Options:
1) The Prime Minister
TeHAT
2) The Chief Justice
g et
3) Lok Sabha Speaker
AT &
4) Rajya Sabha Chairman
STHHT 3Teey
Correct Answer: The Chief Justice
g et
Candidate Answer: The Chief Justice
g =i

QID : 195 - The number of parliamentary seats (Rajya Sabha) of Himachal Pradesh is

fRTaer uer i Gudiy i (s ) i Twe fhat 82

Options:
1)3

2)5
3) 11

4)16
Correct Answer: 3
Candidate Answer: 11



QID : 196 - Which sport is called the Gentleman's Game?

forg Q<1 ! Seetf o1 T gl ST 87

Options:
1) Golf

N\

2) Baseball
ERCICH

3) Cricket
fohdhe

4) Snooker
T

Correct Answer: Cricket

Candidate Answer: Cricket

QID : 197 - Who is the author of "Rise of Kali: Duryodhana's Mahabharata'?

Options:

1) Anand Neelakantan
3TE Hetehe

2) R. K. Narayan

SR & TR0

3) Bharath Veeraraghavan
R Fr=raaT

4) Sakshama Puri Dhariwal
& g

Correct Answer: Anand Neelakantan
3G HteTcha

Candidate Answer: Sakshama Puri Dhariwal

&1 G ariare

QID : 198 - Pyrrhotite is an ore/mineral of

UTSRICISE - T eh 3% / WA 3

Options:
1) Lead
s

2) Nickel
fenet

3) Gold

~
4) Tin
7

Correct Answer: Nickel
[EET)

Candidate Answer: Nickel

QID : 199 - Which is the longest canal in the world?

farsy Y gt ofeft TeR e T 82

Options:
1) Panama
AT

2) Welland
ERS

3) Grand Canal
e

4) Corinth
HIRky

Correct Answer: Grand Canal

Candidate Answer: Grand Canal

s Shrrer

QID : 200 - In fertilisation of a flower, the fertilised central cell will develop into

Qe qod o s 3, FefRra Skt st # ferenfera gt



Options:
1) zygote
IAST

2) embryo
kol

3) endosperm

4) sperm

Correct Answer: endosperm

Candidate Answer: embryo

o
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Quant

Instructions
For the following questions answer them individually

Question 1

The difference between 66 % of a number and 44% of the same number is 275. What is the 64% of that
number?

A 800
B 840
C 760

D 600

Answer: A

Explanation:
Let the number be 100z

According to ques,

=> (L5 x 100z) — (756 x 100z) = 275

=> 66z — 44z = 22z = 275
= = % = 12.5

.. 64% of the number = % x 100 x 12.5 = 800

=>Ans - (A)

Question 2

Calculate the value of (57 — 1)(5% + 57 4 51 + 1)

Answer: B

Explanation:



m
X
©
=
[0}
(%2}
@.
o
>
1
—~
ot
NS
|
—
~—
~~
ot
NS}
+
(@)
D=
+
ot
LI
+
—
N—

Let5 =z
=(z—1)(2® +2* +x+1)
- (@~ 1)

=(51)*~1

=5 _ 1=

=> Ans - (B)

Question 3

Find 'x'if /(2 + 7z) = 1/(3z + 4)

A 05
B 1
Cc 15

D 2

Answer: A

Explanation:
Expression: /(2 4+ 7z) = /(32 + 4)

Squaring both sides, we get :
=2+ 7z =3z +4

=>7r —3x=4—-2

=>4r = 2

=T = % =0.5

=>Ans - (A)

Question 4

The product of two even consecutive numbers is 168. Find the sum of numbers.

A 20
B 22
C 24

D 26

Answer: D



Explanation:
Let the two consecutive even numbers be x, (z + 2)

Product = z(z + 2) = 168

=z’ + 2z — 168 = 0

=z’ + 14z — 12z — 168 = 0
=>gz(r+14) —12(z+14) =0

=>(z 4+ 14)(z —12) =0

=z = —14,12

*." x cannot be negative, => & = 12

.. Sum of numbers =z + (z + 2) = 2z + 2
=2(12)+2=24+2=26

=> Ans - (D)

Question 5

A line DE parallel to the side BC intersects the other two sides of triangle at point D and E such that AD=%
AB and AE=% AC. If the value of BC is 18 cm then calculate the value of DE (in cm).

Answer: B

Explanation:

B C
Given : AD=3 AB and AE=# AC and BC = 18 cm



Tofind:DE=?
Solution : In /A ADE and /A ABC,
ZA=/A (Common Angle)

AB — AC T 6
./\ ADE ~ A\ ABC
AD _ AE _ DE
AB = AC =~ BC
DE _ 1

18 — 6
=>DE:1—68:3cm

AD _ AF _ 1 (Given)

=>

=>

=> Ans - (B)
Question 6

Consider the two equiangular triangles ABC and DEF having medians as AL and DM respectively as shown
in figure below.

A

B
= L c E M F

Choose the correct option for the above situation.

A BC _ Du
EF — AL

B BC _— AL
EF = DM

c LE _ AL
BC =~ DM

D All options are Correct

Answer: B

Explanation:
It is given that /A ABC and /\ DEF are equiangular triangles, thus corresponding angles are equal.

=>/\ ABC ~ A\ DEF

=> Ratio of perimeter = 42 = 8¢ = £0 ()
Since, AL and DM are medians, => Ratio of perimeter of /A ABC to /\ DEF = 134—]\L4 ——————————— (ii)

From, equations (i) and (ii), we get :

_» BC _ AL
" EF = DM

=> Ans - (B)



Question 7

The value of a car depreciates at the rate of 15% per annum. If its present value is Rs 433500, then what
was the value (in Rs) of the car 2 years ago?

A 594200
B 620000
C 563550

D 600000

Answer: D

Explanation:
Let value of car 2 years ago = Rs.

Rate of depreciation = 15%

=> Current value of car =z x (1 — £2) x (1 — 12) = 433500
=>x = 433500 x % X %

=>z = 60 x 10000 = 600000

.". The value (in Rs) of the car 2 years ago = Rs.6,00,000

=> Ans - (D)

Question 8

IfA:B:C=2:3:5andC:D=2:5, then whatis A:D?

A 425
B 8:21
C 6:25

D 12:35

Answer: A

Explanation:
Given=A:B:C=2:3:5 (i)

andC:D=2:5 - (ii)

'C'is common in both, thus we need to make it equal in both. Multiply equation (i) by 2 and equation (ii) by 5

=>A:B:C=4:6:10



andC' : D =10:25
SA:D=4:25
=>Ans - (A)
Question 9

In a mixture of 35 litres, the ratio of water and acid is 6 : 1. If 5 litres of acid is added to the mixture, then
what will be the ratio of water and acid in the new mixture?

D 6:5

Answer: C

Explanation:
Total quantity of mixture = 35 litres and ratio of water and acid is 6 : 1

=> Quantity of water = ﬁ x 35 = 30 litres

Thus, quantity of acid = 35 — 30 = 5 litres

Now 5 litres of acid is added to the mixture, =>acid =5 + 5 = 10 litres
=> Ratio of water and acid in the new mixture = :1)’—8 =3:1

=>Ans - (C)

Question 10

The average savings of Champak in 5 days is Rs 160. If his savings for the first 4 days is Rs 155, Rs 170, Rs
134 and Rs 168 respectively, then what is his saving (in Rs) of the 5th day?

A 161
B 163
C 169

D 173

Answer: D

Explanation:
Average savings of Champak in 5 days = Rs. 160

=> Total savings in 5days =5 x 160 = Rs. 800
Savings of first 4 days = 155 + 170 4+ 134 + 168 = Rs. 627



=> Savings of 5th day = 800 — 627 = Rs. 173

=>Ans - (D)

Question 11

A sum of Rs 6000 is borrowed at compound interest at the rate of 8% per annum. What will be the amount
(in Rs) after 2 years?

A 69984
B 6960
C 67844

D 6869.4

Answer: A

Explanation:
Principal sum = Rs. 6000

Rate of interest = 8% and time period = 2 years
Amount under compound interest = P(1 + &)
=6000(1 + )2

=6000(1 + =) = 6000(3L)2

= 6000 x %

=9.6 x 729 = Rs.6998.4

=>Ans - (A)

Question 12

Cost price of an article is Rs 122. If profit percentage is 56%, then what is the selling price (in Rs) of the
article?

A 27727
B 217.85
C 175.68

D 190.32

Answer: D

Explanation:



Cost price = Rs. 122
Profit % = 56%
=> Selling price = 122 + (2% x 122)

100
=122 + 68.32 = Rs.190.32
=> Ans - (D)

Question 13

On Selling a watch at % of the marked price there is loss of 4%. What will be the ratio of the marked price
and cost price of the watch?

C 10:7

D 7:5

Answer: A

Explanation:
Let marked price of the book = Rs. 50x

=> Selling price = % X b0x = Rs. 40x
Loss % = 4%

=> Cost price = % x 100 = Rs. Lg‘r’m

50z

.". Ratio of marked price and cost price of the book = &
3

=(50x3):125=6:5
=>Ans - (A)

Question 14

What is the positive square root of [19 + 41/21]?

A VT+2/3
V3 +2y/7
C V2+3V7
V7433

Answer: A

o



Explanation:
Expression : [19 + 44/21]?

= [19 + 2¢/4 x 21] = [19 + 2v/84]
=T +124 27 x 12
=(7)? + (12)% + 27 x 12

Now, we know that a? + b? + 2ab = (a + b)?

= (V7 +v12)?

Thus, square root is = \ﬁ + \/ﬁ
=V7+2V3

=>Ans - (A)

Question 15

18 men or 25 boys can complete a work in 25 days. How many days will 36 men and 10 boys will take to
complete the work?

5
c %
Answer: B
Explanation:

Let time taken by 1 man to complete unit work = m and by 1 boy = bb

1

18 men complete the work in 25 days, =>m = 543

1
25x25

Similarly, b =
Now, time taken by 36 men and 10 boys to complete unit work = 36m -+ 10b

= (36 x 25>1<18) + (10 x 25i25)

2 4 2

=35 T 125

1042 _ 12
125 — 125

125

.". No. of days taken to finish the work = 5

=> Ans - (B)
Question 16

Vipin crosses a 450 metres wide road in 9 seconds. What is his speed (in km/hr)?

A 195



B 150
c 210

D 180

Answer: D

Explanation:
Distance covered in 9 seconds =450 m

Using, speed = distance/time
=40 = 50m/s
= (50 x ) = 180 km/hr

=>Ans - (D)

Instructions

The line graph shows the number of vacancies for executives in a certain company. Study the diagram and
answer the following questions.

Number of Vacancies
150

130
110 100

o0

&5
70 55

50 40
30
10

-10 2011 2012 2013 2014 2015 2015 2017

Question 17

In which year were the number of vacancies lesser than that of the previous year?

A 2015
B 2014
C 2016

D 2012

Answer: B



Explanation:
In the years 2013, 2014 and 2017, the number of vacancies lesser than that of the previous year.

=> Ans - (B)
Question 18

What was the difference in the number of vacancies between the years 2016 and 2014?

A 60
B 50
c 70

D 40

Answer: C

Explanation:
Number of vacancies in 2016 = 100

Number of vacancies in 2014 = 30

=> Required difference = 100 — 30 = 70
=> Ans - (C)

Question 19

The number of vacancies in 2014 were lesser than that in 2016 by

A 1.167
B 0.7
C 06

D 2.333

Answer: B

Explanation:
Number of vacancies in 2016 = 100

Number of vacancies in 2014 = 30

=> Required % = (103)_030) x 100 = 70% = 0.7

=> Ans - (B)



Question 20

The salary of an executive in the company is Rs 30,000, then what was the increase in the expense (in Rs
lakhs) due to salaries that had to be paid when posts were filled for the vacancies in the year 2017?

D 12

Answer: D

Explanation:
Number of vacancies in 2017 = 40

Salary of an executive in the company = Rs 30,000
=> Total expense (in Rs lakhs) =40 x 0.3 = 12
=> Ans - (D)

Instructions
For the following questions answer them individually

Question 21

If the lengths of the two parallel sides of a trapezium are 8 cm and 10 cm and the distance between these
parallel sides is 6 cm. Find its area (incm?)

A 27
B 108
C 54

D 81

Answer: C

Explanation:
Distance between parallel sides = height of trapezium = 6 cm

=> Sum of lengths of parallel sides =8 + 10 = 18 cm

=> Area of trapezium = % X (sum of parallel sides) X height
=2 x18x6

- 108 __ 2

== =5%dcm

=> Ans - (C)



Question 22

If the diameter of a circle is 7 cm, then what will be its circumference (in cm)?

A 44
B 22
C 26

D 52
Answer: B
Explanation:
Radius of circle =r = % = 3.5¢cm

=> Circumference = 27r

=2 x 2—72 x 3.5
=44 x 0.5 = 22 cm
=> Ans - (B)
Question 23

Find the volume (incm?) of a cube of side 6.5 cm.

A 56.515
B 274.625
C 35.605

D 14.925

Answer: B

Explanation:
Side of cube =a = 6.5 cm

=> Volume of cube = a®

= (6.5) = 274.625 cm?
=> Ans - (B)

Question 24

ADEF is right angled at E. If mZD = 30°, then find the value of (cos F' + 1/3)



(o] ve] >
ME B ME gk

o

Answer: B

Explanation:

]
E F
Sum of angles of A DEF= /D + ZE + ZF = 180°

=>30° +90° + /F = 180°
=>/F = 180° — 120° = 60°
Tofind: (cos F + +/3)

= cos(60°) + /3

= % + \/g
(1+2+/3)

2
=> Ans - (B)

Question 25

ADEF is right angled atE. If sin D = %, then what is the value of cot F' ?

17
D 15

Answer: C



Explanation:

D

E F
Given:sin D = %
Also, sin D = % — %
Let EF =15 cm and DF =17 cm
Thus, in A DEF, => (DE)? = (DF)? — (EF)?
= (DE)* = (17" - (15"
=> (DE)? = 289 — 225 = 64
=>DE = /64 = 8 cm

. _ EF
Tofind:cot F' = OE

=E
8

=> Ans - (C)

Reasoning

Instructions
For the following questions answer them individually

Question 26

In the following question, select the related word pair from the given alternatives.
Turtle : Reptile::?:?

A Snake : Amphibian
B Frog: Bird
C Crow:Fly

D Elephant: Mammal

Answer: D



Explanation:
Expression = Turtle : Reptile :: ?:?

The first comes under the category of second, i.e. turtles are reptiles, similarly an elephant is a mammal.
Snakes are reptiles, crow is a bird and frog is an amphibian.

=>Ans - (D)

Question 27

In the following question, select the related number pair from the given alternatives.
16:48::7:?

A 25:75
B 11:32
C 25:64

D 49:72

Answer: A
Explanation:
Expression=16:48::7:7

The numbers are of the form=n : 3n

Eg:-3 x 16 = 48

Similar pattern is observed only in =3 x 25 = 75
=>Ans - (A)

Question 28

In the following question, select the related letter/letters from the given alternatives.
APR:BQS::ETV:?

A FVX
B FUW
C GUX

D GVW

Answer: B

Explanation:
Expression =APR:BQS::ETV:?



The pattern followed is :

(+1) (+1) (+1)

B ] 5
Similarly, for ETV : FUW

+1) | (+1) | (+1)

F L W
=> Ans - (B)

Question 29

In the following question, select the odd word pair from the given alternatives.

A Pen-Ink
B Pen - Writer
C Book-Pages

D Word - Letter

Answer: B

Explanation:
First is made by using second, pen is made up of ink, book of pages, and word is combination of letters,
hence Pen - Writer is the odd one out.

=> Ans - (B)

Question 30

In the following question, four number pairs are given. The number on left side of (-) is related to the
number on the right side of (-) with some Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

Answer: D



Explanation:
The second number is double of the first number.

Tx2=14
11 x 2 =22
5x2=10
3xXx2=6+#8
=>Ans - (D)
Question 31

In the following question, select the odd letter/letters from the given alternatives.

A KRY
B DKR
C FMT

D LVZ

Answer: D

Explanation:
(A) : K (+7 letters) = R (+7 letters) = Y

(B) : D (+7 letters) = K (+7 letters) =R

(C): F (+7 letters) = M (+7 letters) =T
(D) : L (+10 letters) = V (+4 letters) = Z
=>Ans - (D)

Question 32

From the given alternatives, according to dictionary, which word will come at SECOND position?
1. Conservative
2. Cooker

3. Conflict

4. Congratulate
5. Cool

A Conservative
B Congratulate
C Cooker

D Conflict

Answer: B



Explanation:
As per the order of dictionary :

= Conflict -> Congratulate -> Conservative -> Cooker -> Cool
Thus, the second word = Congratulate

=> Ans - (B)

Question 33

In the following question, select the missing number from the given series.
14,19, 26, 37, 50, 67, ?

A 83
B 77
C 86

D 93

Answer: C

Explanation:
Consecutive prime numbers are added.

14+5=19
19+7=26
26+11=37
37+13=50
50+17 =67
67 +19 =86
=>Ans - (C)
Question 34

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.
K,O,S,W,?



p D
Answer: A

Explanation:

Series: K,0,S, W, ?

The pattern followed is :

K (+4 letters) = O (+4 letters) = S (+4 letters) = W (+4 letters) = A

=> Ans - (A0

Question 35

From a hospital J, Pritam walked 49 metres to the south, then after turning to right he walked 49 metres. He
again turned right and walked another 34 metres and finally turned to right and walked 49 metres. At what
distance (in metres) and in which direction is he from the hospital J now?

A 15, North
B 22v3, North
C 15, South

D 22v3, South

Answer: C

Question 36

From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Gramophone

A Game
B Norm
C Ram

D Move

Answer: D

Explanation:
The word GRAMOPHONE does not contain any 'V', thus the term Move cannot be formed.

=> Ans - (D)



Question 37

In a certain code language, “Sun is hot” is written as “fi lat muk”, “milk is sour” is written as “muk ti mu” and
“milk makes sour” is written as “ti mu fa". What is the code for “is” in that code language?

C muk

D mu

Answer: C

Explanation:
“Sun is hot” is written as “fi lat muk”

“milk is sour” is written as “muk ti mu”

The common word in above statements is 'is' and the common code is = 'muk’
Thus, the code for 'is' = 'muk’

=> Ans - (C)

Question 38

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.
PCO, QDP, REQ, ?, TGS

A TGS
B SGR
C SFR

D TFS

Answer: C

Explanation:
Series : PCO, QDP, REQ, ?, TGS

The pattern followed in each letter of the terms is :

1st letter : P (+1 letter) = Q (+1 letter) = R (+1 letter) = S (+1 letter) = T
2nd letter : C (+1 letter) = D (+1 letter) = E (+1 letter) = F (+1 letter) = G
3rd letter : O (+1 letter) = P (+1 letter) = Q (+1 letter) = R (+1 letter) = S
Thus, missing term = SFR

=>Ans - (C)



Question 39

In the following question, select the missing number from the given series.
133,136, 139, 142, ?, 148

A 146
B 145
C 144

D 147

Answer: B

Explanation:
'3' is added to all the numbers.

133+3=136
136 +3 =139
139+3 =142
142 +3 =145
145+ 3 =148
=> Ans - (B)

Question 40

In the following question , four groups of three numbers are given. In each group the second and third
number are related to the first number by a Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

A (57,61, 65)
B (92,96, 100)
C (63,67,71)

D (64,68,70)

Answer: D

Explanation:
The numbers are of the form : (z, x + 4, z + 8)

But in the last option, we have =64 + 8 = 72 # 70
Thus, (64, 68, 70) is the odd one out.



=>Ans - (D)
Question 41

In a certain code language, '-' represents '+, '+ represents X', 'x' represents '+' and '+' represents '-'. Find out
the answer to the following question.
20+6x5+20-14="?

A 45
B 26
C 18

D 12

Answer: C

Explanation:
Expression:20+6x5+20-14="7

=20x6+5—-20+14
=(4x6)—6
=24 -6 =18

=> Ans - (C)

Question 42

The following equation is incorrect. Which two signs should be interchanged to correct the equation?
19-16+5+10x2=28

A xand-

B +and-

C +andx

D -and+
Answer: C

Explanation:

When we interchange x and -, we get 19 x 16 + 5+ 10 - 2 = 302.5. Option A is wrong.
When we interchange + and -,we get 19 + 16 + 5- 10 x 2 = 16.1875. Option B is wrong.
When we interchange + and x, we get 19-16 + 5 x 10 + 2 = 25. Option C is correct.
When we interchange - and +, we get 19+ 6 - 5+ 10 x 2 = 24. Option D is wrong.
Hence, option C is the correct answer.



Question 43
If 1&7 = 80, 4&5 = 90 and 6&8 = 140, then find the value of 5&5 = ?

A 40
B 100
Cc 20

D 90

Answer: B

Explanation:
Given : 1&7 = 80, 4&5 =90 and 6&8 = 140

If we replace '&' with '+', and multiply the sum by 10, we get the desired result.
Eg:-(1+7) x 10 =280

and (4 +5) x 10 =90and (6 + 8) x 10 = 140

Similarly, (5 + 5) x 10 = 100

=> Ans - (B)

Question 44

Which of the following terms follows the trend of the given list?
XyXYXYXY, XYxYXYXY, XYXyXYXY, XYXYxYXY, XYXYXyXY,

A  xYXYXYXY
B XYXYXYxY
C XyXYXYXY

D XYxYXYXY

Answer: B

Explanation:
Expression : XyXYXYXY, XYxYXYXY, XYXyXYXY, XYXYXYXY, XYXYXyXY,

The pattern followed is that there is a combination of 4 'XY" in which the letters starting from second position
and in increasing order are small letters in each successive terms.

Thus, in the missing term, the second last alphabet is small, => XYXYXYxY

=> Ans - (B)



Question 45

Two cruisers start from the same port. Cruiser A sails 50 miles South, then it turns right and sails 60 miles.
In the meanwhile cruiser B sails 105 miles West, then it turns left and sails 50 miles, then it turns West and
sails 45 miles. Where is cruiser A with respect to cruiser B?

A 210 miles East
B 90 miles East
C 90 miles West

D 210 miles West

Answer: B

Question 46

In the question two statements are given, followed by two conclusions, | and Il. You have to consider the
statements to be true even if it seems to be at variance from commonly known facts. You have to decide
which of the given conclusions, if any, follows from the given statements.

Statement I: All doors are windows
Statement Il: No openings are windows

Conclusion I: All windows are openings
Conclusion II: No openings are doors

A Only conclusion | follows
B Only conclusion Il follows
C Both conclusions | and Il follow

D Neither conclusion | nor conclusion Il follows

Answer: B



Question 47

In the following figure, rectangle represents Reporters, circle represents Dancers, triangle represents
Playwrights and square represents Boxers. Which set of letters represents Boxers who are Playwrights?

Answer: B

Question 48

fig

A fig1
B fig2
C fig3

D fig4

Answer: D

Question 49

fig

A fig1

B fig2



C ﬁg3

D fig4

Answer: D

Question 50

fig

A 44,34,68,10
B 11,89,13,77
C 20,88,11,86

D 42,67,12,89

Answer: A

English

Instructions
For the following questions answer them individually

Question 51

Select the antonym of
stratagem

A frankness
B ruse
C gimmick

D ploy

Answer: A



Question 52

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives
suggested, select the one, which best express the same sentence in Indirect/Direct speech.

The tutor said, “The sunrises in the East”.

A The tutor says the sun rises in the East.
B The tutor said that the sun rose in the East.
C The tutor said that the sun has been rising in the East.

D The tutor said that the sun rises in the East.

Answer: D

Question 53

Select the synonym of
to admonish

A to reprimand
B torave
C to panegyrize

D toeulogise

Answer: A

Question 54

In the following question, some part of the sentence may have errors. Find out which part of the sentence
has an error and select the appropriate option. If a sentence is free from error, select '‘No Error'.

I don't think | shall (A)/get through all (B)/this work this afternoon.(C)/No error (D)

c C

D D

Answer: D



Question 55

Select the antonym of
divulgence

A testimony
B repudiation
C assent

D revelation

Answer: B

Question 56

Select the synonym of 'blabber’

A wary
B nonsense
C sophic

D sapient

Answer: B

Question 57

In the following question, out of the four alternatives, select the alternative which best expresses the
meaning of the idiom/phrase.
to hit the sack

A to prepare for sleep
B todie
C totake one's anger out

D to hit where it hurts the most

Answer: A



Question 58

Rearrange the parts of the sentence in correct order.
The current Indian

P-establishment’s priorities

Q-independence of writers

R-do not include the

A RPQ
B QRP
C PRQ

D QPR

Answer: C

Question 59

Select the word with the correct spelling.

A iminent
B mouerning
C laticed

D neoplasm

Answer: D

Question 60

Improve the bracketed part of the sentence.
Your character depends on (your upbringing).

A how you were brought.
B your up bringing
C your way of upbringing.

D noimprovement

Answer: D



Question 61

In the following question, out of the four alternatives, select the alternative which best expresses the
meaning of the idiom/phrase.
Hocus pocus

A walking in a zig-zag manner, especially under the influence of alcohol
B meaningless talk or activity, typically designed to trick someone
C rich people but who are shallow and greedy

D doing a job haphazardly

Answer: B

Question 62

Select the word with the correct spelling.

A asyrian
B apustate
C marzipan

D cucamber

Answer: C

Instructions

In the following passage, some of the words have been left out. Read the passage carefully and select the
correct answer for the given blank out of the four alternatives.

democracies, citizens have command who they want to be represented by

as well as the competence to define issues worthy of representation. Outside the domain of often
party politics lies an entire terrain of collective action which citizens press

their collective will upon those rule.
Question 63

democracies
A In
B Into
C Inside

D Inner



Answer: C

Question 64

citizens have command

A on
B about
C over

D with

Answer: D

Question 65

Outside the domain of often party

A smelly
B obnoxious
C odourful

D rancid

Answer: A

Question 66

politics lies an entire terrain of collective action

A through
B to
C into

D for

Answer: B



Question 67

which citizens press their collective will upon those rule.

A whom
B which
C whosoever

D who

Answer: D

Instructions
For the following questions answer them individually

Question 68

Improve the bracketed part of the sentence.
My daughter (is loving) Glucose biscuits.

A has been loving
B lovesto
C loves

D noimprovement

Answer: C

Question 69

In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives
suggested, select the one, which best expresses the same sentence in Passive/Active voice.

Anita will arrange the dresses.

A The dresses would be arranged by Anita.
B The dresses would have been arranged by Anita.
C The dresses would have had been arranged by Anita.

D The dresses will be arranged by Anita.

Answer: C



Question 70

In the following question, the sentence given with blank to be filled in with an appropriate word. Select the
correct alternative out of the four and indicate it by selecting the appropriate option.

Each day, the price of gold will on the market.

A fluctuate
B wave
C flutter

D vibrate

Answer: D

Question 71

In the following question, the sentence given with blank to be filled in with an appropriate word. Select the
correct alternative out of the four and indicate it by selecting the appropriate option.

A education needs to include reading, writing, math, and a variety of other subjects.

A organic
B fundamental
C primitive

D radical

Answer: A

Question 72

In the following question, out of the four alternatives, select the alternative which is the best substitute of
the phrase.
Respect and admiration.

A peccant
B culpable
C vicious

D esteem

Answer: C



Question 73

In the following question, out of the four alternatives, select the alternative which is the best substitute of
the phrase.
Involving many carefully arranged parts or details; detailed and complicated in design and planning.

A labyrinthine
B facile
C elaborate

D prodigious

Answer: B

Question 74

In the following question, some part of the sentence may have errors. Find out which part of the sentence
has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

He has seen (A)/some bad days (B)/but now he is well of.(C)/No error(D)

c C

D D

Answer: A

Question 75

Rearrange the parts of the sentence in correct order.
What makes this "victory"

P-even more surprising was

Q-the complete asymmetry of

R-the two sides involved

A QRP
B RPQ

C PRQ



p PQR

Answer: D

General Awareness

Instructions
For the following questions answer them individually

Question 76

Which movie has won the most number of Oscars?

A Titanic
B Cabaret
C Jungle Book

D Avatar

Answer: A

Question 77

Chittorgarh Fort is in

A Rajasthan
B Bihar
C Uttar Pradesh

D Guijarat

Answer: A

Question 78

Which organ is the main digester and absorber of food?

A Stomach

B Liver



¢ Colon

D Smallintestine

Answer: D

Question 79

The bark of willow tree is a source of which medicine?

A Paracetamol
B Aspirin
C Antacid

D Antiseptic

Answer: B

Question 80

Capra Hircus is the scientific name of

A Sheep
B Cow
C Horse

D Goat

Answer: D

Question 81

What does a catalyst do in a reaction?

A A catalyst is nothing but the final product of a reaction
B Does not alter the rate of reaction
C Speeds up chemical reaction

D Slows down chemical reaction

Answer: C



Question 82

Atomic number of which of the following elements is greater than that of Bromine

A Silver
B Copper
C lIron

D Chromium

Answer: A

Question 83

Commonly used abbreviation GUI in computer science stands for?

A Group User Interface
B Graphic User Interface
C Graphic User Integration

D Group User Integration

Answer: B

Question 84

Tamil is the official language of

A Puducherry
B Dadra and Nagar Haveli
C Daman and Diu

D Delhi

Answer: A

Question 85

A tyre tube manufacturer faces a -1.6 price elasticity of demand for its tubes. It is presently selling 24000
units/month. If it wants to increase quantity sold by 4%, it must lower its price by




A 2.5 percent
B 5.6 percent
C 2.4 percent

D 6.4 percent

Answer: A

Question 86

Consider the market for new two-wheelers. If the price of steel increases, then the equilibrium price of new
two wheelers will and the equilibrium quantity will

A increase; increase
B decrease; decrease
C increase; decrease

D decrease; increase

Answer: A

Question 87

Which type of pathogen causes the water-borne disease Ascariasis?

A Viral
B Protozoan
C Bacterial

D Parasitic

Answer: D

Question 88

Which type of pathogen causes the water-borne disease Dysentery?

A Algal

B Parasitic



¢ Protozoan

D Bacterial

Answer: D

Question 89

What is the major electricity generation power source in India?

A Coal
B Gas
C Nuclear

D Hydro

Answer: A

Question 90

A person, who draws or makes maps or charts, is called

A Hydrographer
B Cartographer
C Seismographer

D Cartogrammer

Answer: B

Question 91

Brihadeshwara Temple, Thanjavur is in

A Tamil Nadu

B Assam

C Bihar

D Himachal Pradesh

Answer: A




Question 92

Salt March also known as Dandi March was initiated by

A Raja Ram Mohan Roy
B Mahatma Gandhi
C Avantikabai Gokhale

D Kasturba Gandhi

Answer: B

Question 93

Chauri Chaura incident took place in?

A 1902
B 1912
C 1922

D 1932

Answer: C

Question 94

Who invented Telephone?

A Alexander Graham Bell
B Thomas Edison
C Benjamin Franklin

D James Watt

Answer: A

Question 95

Which instrument measures AF signal level and noise?



A Vectorscope
B VU meter
C Q meter

D Psophometer

Answer: D

Question 96

If a physical quantity has the units - ampere meters per second squared, then what are it's dimensions?

A [ILT-2]

B [ALT-2]

C [IMS-2]

D [AMS-2]
Answer: A

Question 97

The 42nd Amendment of the Constitution of India was enacted in the year

A 1947
B 1977
C 1991

D 2016

Answer: B

Question 98

The number of parliamentary seats (Rajya Sabha) of Chhattisgarh is




p 16

Answer: B

Question 99

Which country's 7 swimmers were banned from the Rio Olympics?

A Russia
B Japan
C China

D USA

Answer: A

Question 100

Who is the author of "The Great Indian Novel"?

A Jawaharlal Nehru
B Shashi Tharoor
C Mahatma Gandhi

D Arun Shourie

Answer: B



